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1.1 INTRODUCTION
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1.1.1 Computer and Numerical Software
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1.1.2 Computer Languages
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1.1.3 Software Packages
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1.2 MATHEMATICAL PRELIMINARIES
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Figure 1.1 Intermediate value theorem.
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1.3 ERRORS AND THEIR COMPUTATIONS
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���	�� ������� ��� ����� 	�� 	� �� 
�	�� ������	� 	��
�����
��� ������ 
�� 	��� ������ ���� 	�

� 

� &�&'��:����� 	��� 	�	��� ��
���	�� �����


 0.14 0.01 0.15.= + =S ���
�

472.95 0.15.= ±S
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� �
��� 	��� �
��������

6.37 6.36−
	�� 	����� 

��
�
���	� �
����
�

;�� ����
6.37 � %� @�5@1LL5L41

���

6.36 � %� @�5@'4&K&K1

����������� � 6.37 6.36− � %� &�&&'4L'L5&

� � � � %� &�&&'4L�� ������	� 	�� 	����� 

��
�
���	� �
����
�
/�	����	
�������������

2

6.37 6.36
6.37 6.36

6.37 6.36

0.01

2.524 2.522

0.198 10 , which is the same result as obtained before.�

�
� �

�

�

�

� �

�������� 	
� ���� ������
� ���� �
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� 	��� ���� �
	�� 	��� ����	�
	� ��
���	�� ������� :�����
��� �����!���� 	��� 
������ ������� 	�� 	����� 
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�
���	� �
�
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����� KL�1�� ���
����
���� ������	� 

� �
���� ��

2

48.3 2.5

1.2 10

= ×

= ×

P

��� 	��� ������	�� ��� ��	�
���� ����� 	��� 
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���	� �
�
	
�� 

���� ���� ��� 	��
�
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�� �
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�
���	� �
�
	
�

1.4 A GENERAL ERROR FORMULA

;�� ���� ���
��� �� �������� �������� ���� 	��� ������ ����
		��� 
�� �

��� �� ���	�
�
�������� ��� �� ����	
����� ����	
���� ?�	

�� %� � #��� ��� ($ #'�L$

���� ��	� 	��������
� 
�������� (����������� �����(�� ��
���	
����������� 	�����������

���� 

� �
���� ��

�� I� ��� %� � #�� I� ���� �� I� ���� (� I� �($ #'�4$

(�����
��� 	��� �
��	!

��� ��� (��� #'�4$� ��� ������7
� 
��
�
�� ��� ��	�
�

� � � � � � � �� I� ��� %� � #��� ��� ($� I � � �∂ ∂ ∂+ +
∂ ∂ ∂
u u u

x y z
x y z

� � � � � � � � I� 	���
� 
�����
��� �
����� �����
� ���������� �����( #'�'&$

/

��
��� 	��	� 	��� �����
� ���� ���� �(� ���� 
������ 	��
�� �
����� �����
� ���� ��
������	��� ���� (��� #'�'&$� ������


� � � �∂ ∂ ∂= + +
∂ ∂ ∂
u u u

u x y z
x y z #'�''$

���� ����	
��� ������ 
���� 

� 	���� �
���� ��

R
� � � �� � �

� � � �
� � �

u u x u y u z
E

u x u y u z u #'�'@$

�������� 	
	� �
��� 	��� ������ ��

2

3
= a b

s
c

�

������ �� %� C�5K� O� &�&'�� �� %� KL�CK� O� &�&@�� ���� 
� %� '1�5� O� &�&1�

/�
��� �
��� 	��� ����	
��� ������ 
�� 	��� ��
��	�
;������

��� %� K@�>>'C� b � %� C�4>K@� ���� 
�� %� @KC&�1>5



����������

42.7716 6.9742
0.12124

2460.375
0.121

×= = …

=

s

/�
��

� � � � � � � � � � � � � � � � � � � � ��� �� %� @��� �� I�
1

2
��� �� P� 1��� 


� 1 0.01 1 0.02 0.03
2 3 2 3

2 6.54 2 48.64 13.5

� � � � � � � � � �� � � � � �� � � � � �� 	 � 	 � 	
s a b c

s a b c

� � � � � � � � � %� &�&&441'

�������� 	
		 )
���� 	��	

2

3

5
,= xy

u
z

�
��� 	��� ����	
��� ������ �	� �� %� �� %� (� %� '������ 	��� �����
� 
�� ����� ��� ��� ��� (� 


&�&&'�

;������
2 2

3 3 4

5 10 15
, and

∂ ∂ ∂= = = −
∂ ∂ ∂
u y u xy u xy

x y zz z z
����

2 2

3 3 4

5 10 15
.� � � �� � �

y xy xy
u x y z

z z z

������������ 	��������
�������� �����(����������

	
����������	
����:�����
��� 	� �� 	��� ��
���	�� �����
� ��� 	��� 	���
� ��� 	��� �
��	� 

����;�� 	���� ��	�
�

2 2

max 3 3 4

5 10 15
( )� � � �� � �

y xy xy
u x y z

z z z

��	���� %���� %��(� %� &�&&'� ���� �� %� �� %� (� %� '�� ������ 	��� ����	
������
���
������ #,�$���� 

� �
���� ��

max
R max

( )
( )

0.03
0.006.
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u
E
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1.5 ERROR IN A SERIES APPROXIMATION
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−′= + − + + +�

n
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i i i i i i n i
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f x f x x x f x f x R x
n

#'�'1$

�����

1
( 1)1

1 1
( )

( ) ( ),
( 1)!

�
+

++
+ +

−=
+

n
ni i

n i
x x

R x f
n 1� +< <i ix x #'�'K$

��� (��� #'�'1$�� 	��� ��
	� 	���� 1 1( ),+ +n iR x 
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 .→ ∞n ���
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� 1( )+if x 


������
��	������ 	��� �
�
	!�� 	���
���� 	���
��
�
��
���� 
��(��� #'�'1$�� 	���� 	��
���
��� ����������
		�������

���	�

�������
��	
���#�������	���������
��
������	���	��$�

��
�������	�������
�����	��� 1 1( ).+ +n iR x +�����
�����
��	��
��������� ����
���� 

� 
���
�
��� 
�� ��������� 	���� 
	������������


���� 	�� �
��
���	�������������	���
��
����	��	�	����
�
	��
��
�
��
���
�	�������
�������������

Q��
�
��� 	��� 
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1 ,+ − =i ix x h #'�'5$
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� � �
2

( ) 1
1( ) ( ) ( ) ( ) ( ) O( ),

2! !
+

+ ′ ′′= + + + + +�
n

n n
i i i i i

h h
f x f x hf x f x f x h

n
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$� ����
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�
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3 2( ) 3 5 10.= − + −f x x x x
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��� 
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	� �
��� ��� 
�
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��� ���� 	��
������� 
��
�
� ������
��	
��
� ��� �����
� &� 	�� 1� 
������� 	��� ������������ � #'$
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?�	 1, 0= =ih x ��� 1 1.ix + = ;�� 	���� ����
�� 1( ).+if x ���� ���
��	
��

��� � #�$� ���� �
���� ��

2( ) 3 6 5, ( ) 6 6, ( ) 6,′ ′′ ′′′= − + = − =f x x x f x x f x

iv( )f x ���� �
����� ���
��	
��
� ��
��� ���� 6�����:����

( ) (0) 5,′ ′= =if x f ( ) (0) 6,′′ ′′= = −if x f (0) 6.′′′ =f
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( ) (0) 10.= = −if x f
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�
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2 3

1( ) ( ) ( ) ( ) ( ).
2 6+ ′ ′′ ′′′= + + +i i i i i
h h

f x f x hf x f x f x #
$
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$�� 	��� 6���!������ ������
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��� 
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���� ��

1( ) ( ) O( ),+ = +i if x f x h #
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����� 	���������

(1) (0) O( ) 10,= + ≈ −f f h
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�� ��
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�
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�
	� ������
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���� ��� ����

2
1( ) ( ) ( ) O( ),+ ′= + +i i if x f x hf x h #


$

����� 	���������
2(1) 10 5 O( ) 5,= − + + ≈ −f h

	��� ������ 
�� ��
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�
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��� 	��� 
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h
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31
(1) 10 5 ( 6) O( ) 8,

2
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2 3

0 0 0(1) (0) ( ) ( ) ( )
2 6

1 1
10 5 ( 6) (6)

2 6
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′ ′′ ′′′= + + +

≈ − + + − +
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f f hf x f x f x
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#
$

0
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7
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sin sin cos sin cos
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1 1 1
sin cos sin

24 6 6 120 6 6 720 6 6
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cos .
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1
0.5 3

12 4
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⎛ ⎞ ⎛ ⎞ ⎛ ⎞ ⎛ ⎞ ⎛ ⎞ ⎛ ⎞ ⎛ ⎞≈ + + − + −⎜ ⎟ ⎜ ⎟ ⎜ ⎟ ⎜ ⎟ ⎜ ⎟ ⎜ ⎟ ⎜ ⎟⎝ ⎠ ⎝ ⎠ ⎝ ⎠ ⎝ ⎠ ⎝ ⎠ ⎝ ⎠ ⎝ ⎠
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= + −
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7
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3
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Table 1.1 Taylor’s Series Approximations of f (x) = sin x

Order of approximation Computed value of πsin /3 Absolute error

0 0.5 0.366025403

1 0.953449841 0.087424438

2 0.884910921 0.018885518

3 0.864191613 0.00183379

4 0.865757474 0.000267929

5 0.86604149 0.000016087

6 0.86602718 0.000001777

7 0.866025326 0.000000077

;�����	������
	��	��	��������	��������
���	���
�	����������	���������������
��	�
������� ���� 	�
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�
	!������ ������
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��� 
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( ) ( ) ( ) ( ),′+ = + +f x h f x hf x E h #

$

������,#�$�

�	�����
���	�����������	����
�
	!������������
��	
����
	��
�	�����
�� �� 
�� ( ) sin=f x x ��� /6,�=x ��� ��	�
�

sin sin cos ( ).
6 6 6

h h E h
π π π⎛ ⎞+ = + +⎜ ⎟⎝ ⎠

#


$

3�		
�� /6�=h 
�� #


$�� ��� ��	

3
sin 0.5 ( ) 0.953449841 ( ).

3 12

�� = + + = +E h E h

0
��� sin ( /3) 0.866025403,� = 	��� ������ ����	
��� �
��


( ) 0.087424438.= −E h
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h

E #
�$
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sin sin
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��� #
�$� �
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31

0.5 0.019618139,
2 2 24

h
E

�� � � � � � �� �� �

���� 	���

( )
4.45630633.

( /2)
=E h
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�
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( /2)
4.263856931

( /4)
=E h

E h

���

( /4)
4.141353027.
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=E h
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Figure 2.1 Graphical representation of the bisection method.
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2.3 METHOD OF FALSE POSITION
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Figure 2.2 Method of false position.
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Acceleration of convergence: Aitken’s 2� -process
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2.5 NEWTON–RAPHSON METHOD
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Figure 2.3 Newton–Raphson method.
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J������� ��	����

/��#��	�� 	��� ����	���� ��� 	��� 
���

( ) 1 0= − =xf x xe ���

B�	� ��� �� ���%���

1
1 1 1

1 1 0.6839397
2 2

e
x

e e

− ⎛ ⎞= − = + =⎜ ⎟⎝ ⎠



'�#
� ����� �� ��6..67�7� ��� � ������ �� 6�66-����

��� 	��	

2
0.3553424

0.6839397 0.5774545
3.337012

x = − =

C��������
� ��� 	����#����#�� ��	���

��� �� ��.@-��?- ��� ��� �� ��.@-�766�

�������	
��� G���
�'�#	��,J���������	����� 
������ ����� ���	��������	� 	�
6������������������
�	�������	�������������2��
�!���	��	�	������	��������	#���
�2�� ������

B�	
� ���� �� ���� �� ,�

2

x

%���

� ����� �� ���� �� ,� 1

2

;������
� ��� �� 2

�

�� #�� ��	���

1

sin
2 4 2,

12
2

x

� �

�
−

= − =
−

2
sin 2 1

2 1.9010,
1

cos2
2

x
−= − =
−

3
sin1.9010 0.9505

1.9010 1.8955
cos1.9010 0.5

x
−= − =

−

0�����������������A?.7���������A?..��) ��>�����	���������������	����������A?@�

�������	
��� H�!���	�������	����7������� ��,��������
����	������	���	#���
�� ���� ��.� ������	� 	�� 	����� �������� �������

B�	 � ���� �� 7���� ��� �� ,� �� ���� ��� �� ����
%���

� ����� �� ,��67?6-6�6@�
���

� ������ �� ��..?��.A�@�
%����
����

1
0.349373236

0.2
2.559015826

0.336526406 0.33653.

� �

� �
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'�#�
� ����� �� ,� ���.@.A-

���
� ������ �� ��-.66�.-6.

� � �� ��-.66�
%����
����

2
0.056587

0.33653 0.36880
1.75330

x � � �

1��� 	��� �� 	� ����� ���	����� #�� 
���� � ����� �� , �����--.�7-..� ���
� ������ �� ��.A6��A-�.�� %���� 
�!��

��� �� ��6@AA�� ,� �����-.� �� ��6-�..

������ � ����� �� , ��������-7�� �	� 
����#�� 	��	� 	��� ��������� ���	� ��� 
�!��� ��
�� �� ��6-��

Generalized Newton’s method

�
 � ��� �� ���	� �
� � ���� �� �� #�	�� ���	������	�� ��� 	���� 	��� �	���	���� 
������
������������
� 	�� &��� ����7�� ��� 	�$��� ��

1
( )

,
( )

n
n n

n

f x
x x p

f x+ = −
′

���6��

#�����������	��	 ��2�� � ���������	����������
�	����	���
�	������������
�	����
�
����� ���� ���� ��	�����	��
� 	��� �+� ��� �	� 	��� ����	 ������� ���

&���	���� ���6��� ��� ������� 	�����	�����#���!�"
�	K�� ���
���� ���� �������
	�� &��� ����7�� 
��� � � �� 0���� �� ��� �� ���	� �
 � ���� �� � #�	�� ���	������	�� ��
�	 
����#�� 	��	 � ��� ����� �� ���	� �
 � ����� �� �� #�	�� ���	������	� ��� ,� ��� �

� ������ �� ��#�	�����	������	� ��� ,� ��� ���� ��� ����>����� 	��� � ���������

0
0

0

( )
,

( )

f x
x p

f x
−

′
0

0
0

( )
( 1) ,

( )

f x
x p

f x

′
− −

′′
0

0
0

( )
( 2)

( )

f x
x p

f x

′′
− −

′′′

���	���!��	��������!������
�	�������������	�#�	�����	������	��������!�����	��	
	��� ���	���� ����� ���	���� ��� ��� ������� ��

�����	��� ������ 	�� 	��� ���	�

�������	
�
� 1������������� ���	��
� 	�������	���� � ���������,����,���(�������

;������
� ��� �� ��A�� #�� ��!�

� ����� �� 6��� ,����,��� ��� � ������ �� @�� ,� ��

/�	�� ��� �� ��A��#�� ��	���

0
0

0

( ) 0.072
2 0.8 2 1.012,

( ) (0.68)

f x
x

f x
− = − =

′ −
���

0
0

0

( ) ( 0.68)
0.8 1.043.

( ) 2.8

f x
x

f x

′ −− = − =
′′



%��� ���������� �
� 	����� !������ ������	��� 	��	� 	����� ��� �� ������� ���	� ����� 	�
���	��� 1��� 	��� �� 	� ����� ���	�����#�� ������ ��� �� ����� ���� ��	���

1
1

1

( )
2 1.01 0.0099 1.0001,

( )

f x
x

f x
− = − =

′
���

1
1

1

( )
1.01 0.0099 1.0001.

( )

f x
x

f x

′
− = − =

′′

/�� ���������� 	����
����� 	��	� 	����� ��� �� ������� ���	� �	 �� � ������� #����� ��
��

�����	��� ������ 	�� 	��� ��	���� ���	� ���	��

"�� 	����	���������� �
�#��������'�#	��,J���������	����#�	� �������A�
#�� ��	���

��� �� ��A� (� ����@� �� ��?�� ��� ��� �� ��?�� (� ���7@��� ��?@�

�	����������	��	�	���
�������I���'�#	��K����	�������!��
����������������	���
	��� '�#	��,J������� ����������

2.6 RAMANUJAN’S METHOD

0����!���� J�����F��� ��AA-,�?���� ���������� ��� �	���	�!�� ���������M� 	�
��	������� 	��� �
�����
� ���	� �
� 	��� ����	���

� ���� �� �� �����
#����� � ���� ��� �
� 	��� 
���

� ���� �� �� ,� ����� (����
�� (� ���

�� (�)� ���6��

%�� � ������ 	�����	���� �
� �����������#�� ��������� 	��� ������	��� ����	���

� ���� �����
�� (� ���� (���� �� ��

#�	�� 	��� ���	�� ��� ���� ���� ����� 	��	� 5��5� <� 5��5��%���� 	��� ����	���� ��
����� ��

� ���� �����
�� (����� (���� �� �

� 21 2

0 0
1 0

a a
x x

a a
� � �

#���� ��!�� ���	��
1

1

x
� ����

2

1

x
� ����� 	��	�

1 2

1 1

| | | |x x
> �

'�#�
1

21 2

0 0

1
1

( )�

�

� �
� � �� �� �

a a
x x

x a a
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���� ���#��		��� ��

1
21 2

0 0
1

a a
x x

a a

−⎛ ⎞
+ +⎜ ⎟

⎝ ⎠
1 2

1 2

1 1
k k

x x
x x

= +
− −

1 1 2 2

1 21 1

k x k x

xx xx

− −= +
− −

1 1
1 1 1 2 2 2(1 ) (1 )k x xx k x xx− −= − − − −

2
1

0 1

, wherei i
i i r r

i r

b x b k x
�

�

� �

� � �� �

%����

1 1

2 21 1 1 2 2
1 11

21 1 2 2 1 1

2 2

1
1

1

i

i i
i

i ii
i

k x

k xb k x k x

b xk x k x k x

k x

�

� ��

� �
�� �� ��

� � 	
� � �

�� �� �

0����� 1

2
1,

x

x
< � �	� 
����#�� 	��	

1

2

1
lim ,

i

i i

b

b x
−

→∞
=

#����� ��� 	��� �������	� ���	�� %���� ��� 	��� ������ �
� J�����F��K����	���
#����� ��� ��	������ ����#�

%�� 
���� 	��� �������	� ���	� �
� � ���� �� ���#�� ��������� � ���� ��� 	��� 
���

� ���� �� �� ,� ����� (����
�� (����

�� (����
���� 	����#��	�

12 3 2
1 2 3 1 2 31 ( )a x a x a x b b x b x

�

� �� � � � � � � �� �� � ���66�

� �� (� ����� (����
�� (����

�� (���� (� ����� (� ���
�� (� ���

�� (����� (��

����� (����� (����
�� (�� ���67�

%�� 
���� ���� #�� ����	�� ���

�����	�� �
� ��$�� ��#���� �
� �� ��� ��	�� ������ �

&��� ���67���/�� 	���� ��	���

��� �� �

��� �� ��� ������� ������ ��� �� �

��� ����� (� ��
�� �� ����� (������ ������ ��� �� �� ���6.�

�� � � � � �� � � � � �� � � � � � �
��� ��������� (������ (��� (� ������

� � � ��������� (�������� (��� (������� �
�

�
�

�
�

�
�

�



%��� ��	���� 1 ,i

i

b

b
� � ������� 	�����	�����	
��� ���������� ��� 	��� ����	�� 	��� �
�����


���	� �
� � ���� �� ���%�����	���� ��� ������	��	��� ��� 	��� 
����#��
� � �������

�������	 
�
� 1���� 	��� �������	� ���	� �
� 	��� ����	���

� ���� �� ��� ,� ?��� (� �@�� ,� �7� �� �
/�� ��!�

2 3

2 3

26 9 1
( ) 1

24 24 24
13 3 1

1
12 8 24

f x x x x

x x x

� � � �

� �� � � �� �� 	
>���

1 2 3 4 5
13 3 1

, , , 0
12 8 24

a a a a a� � � � � � ��

'�#�
��� �� �

2 1
13

1.0833,
12

b a= = =

%����
����

1

2

12
0.923

13

b

b
= =

��� �� ����� (�����

� � �
13 3

(1.0833) (1) 0.7986
12 8

= − =

%����
����

2

3

1.0833
1.356

0.7986

b

b
= =

��� �� ����� (� ����� (� ����

� � � ��� ���A66� ���-?A@�� (�
3

8
⎛ ⎞−⎜ ⎟⎝ ⎠

����A66�� (�
1

24
���

� � � ��� ��.��-
%����
����

� � � � � � � � � � � � � � 3

4
1.595

b

b
=

5 1 4 2 3 3 2

3 1
1.0833(0.5007) (0.7986) (1.0833)

8 24

0.2880

b a b a b a b� � �

� �� � � �� �� 	

�
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%����
����

4

5

0.5007
1.7382.

0.2880

b

b
= =

6 1 5 2 4 3 3

0.1575

b a b a b a b= + +
=

%����
����

5

6
1.8286.

b

b
=

��� �� ���A6.
%����
����

6

7
1.8862.

b

b
=

��� �� ���767
%����
����

7

8
1.9240.

b

b
=

��� �� �����6
%����
����

8

9
1.9462.

b

b
=

%��� ���	�� �
� 	��� 
�!��� ����	���� ���� ��� 6� ���� 7� ���� �	� ���� ��� ����� 	��	� 	��
��������!�� ���!��
��	�� ��������� 	��� !����� ��
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 1���� �� ���	� �
� 	��� ����	���� ���� �� ��
B�	

���� �� � ���
& ������
� ��� ��� ��������
� ��#���� �
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3 4 5
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x x x
x x= + + + + +� ����
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� 	��� 
���� �
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2
� ��
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2
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6
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6
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��2��� �� ��.-�7�

��2��� �� ��.@-@�

��2��� �� ��.@-��
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x
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x

⎡ ⎤
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�
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1
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2.7 SECANT METHOD
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2.8 MULLER’S METHOD
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2.9 GRAEFFE’S ROOT-SQUARING METHOD
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2.10 LIN–BAIRSTOW’S METHOD
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2.11 QUOTIENT–DIFFERENCE METHOD
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Table 2.1 A Typical Q-D Table

D0 Q1 D1 Q2 D2 Q3 D3

(1)
1Q 0 0

0 (1)
1D D

(0)
2 0

(2)
1Q

(1)
2Q

(0)
3Q

0 (2)
1D

(1)
2D 0

(3)
1Q

(2)
2Q

(1)
3Q

/���� 	��� 
���	� 	#�� ��#�� ���� $��#��� 	��� �	���� ��#�� ���� ��� ����	���	��� ��
����
�&���� ���@?������ ���-�����	����	�����%�������	�	���� ( )

1
iQ �� ( )

2
iQ � ���� ( )

3
iQ
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b
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(1) (2) (1)
1 1 1 – 2.8889,D Q Q= − =

���

(2) (3) (2)
1 1 1 – 0.9293.D Q Q� � �

%�� ��	������� (1)
2Q �� #�� ��!�

(2) (2)
(1) 1 1
2 (1)

1

1.9658.
D Q

Q
D

� �

/�	�� (0)
2 0,Q = #�� ���� ��#� �����	�� (0)

2D � 
���� 	��� 
������

(0) (1) (1) (0)
2 2 1 2

– 0.9231.

D Q D Q= + −
=

�	� 
����#�� �������	���� 	��	� (0)
3Q � �� ��?�6��
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%�� �����	� (2)
1 ,D #�� ���� 	��� ������	�

(1)
1

(2) (1)
1 2

(2)
1

D

Q Q

D
#����

(2) (2) (1) (1)
1 1 1 2� � �D Q D Q

>����

(2)
1

– 0.9293 2.4616
– 0.4415.

5.1818
D

�

� �

0���������
2

(1)
2

(0.9231)
– – 0.4355.

1.9658
D � �

'� 	� ��#� ��� �� ��#� �
� ���	���	���/�� ��!�� (3)
1 5.1818.Q =

*����
(2)
2 1.9658 0.4335 0.9293

2.4616,

Q = − +
=

���
(1)
3 0.9231 0.4335

1.3566.

Q = −
=
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Table 2.2 Solution of Example 2.30

D0 Q1 D1 Q2 D2 Q3 D3

9 0 0
0 –2.8889 –0.9231

6.1111 1.9658 0.9231
0 –0.9293 –0.4335 0

5.1818 2.4616 1.3566
0 –0.4415 –0.2389 0

4.7403 2.6642 1.5955
0 –0.2481 –0.1431 0

4.4922 2.7692 1.7386
0 –0.1529 –0.0898 0

4.3393 2.8323 1.8284
–0.0998 –0.0580 0

4.2395 2.8741 1.8864
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2.12 SOLUTION TO SYSTEMS OF NONLINEAR EQUATIONS
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2.12.1 Method of Iteration
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2.12.2 Newton–Raphson Method
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3.2 ERRORS IN POLYNOMIAL INTERPOLATION
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3.3 FINITE DIFFERENCES
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3.3.1 Forward Differences
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Table 3.1 Forward Difference Table

x y0 � �� �� �� �� ��

x0 y0
�y0

x1 y1 ��y0
�y1 ��y0

x2 y2 ��y1 ��y0
�y2 ��y1 ��y0

x3 y3 ��y2 ��y1 ��y0
�y3 ��y2 ��y1

x4 y4 ��y3 ��y2
�y4 ��y3

x5 y5 ��y4
�y5

x6 y6
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Table 3.2 Forward Difference Table

x y � �� �� �� �� ��

x0 DEL(0, 0)
DEL(1, 0)

x1 DEL(0, 1) DEL(2, 0)
DEL(1, 1) DEL(3, 0)

x2 DEL(0, 2) DEL(2, 1) DEL(4, 0)
DEL(1, 2) DEL(3, 1) DEL(5, 0)

x3 DEL(0, 3) DEL(2, 2) DEL(4, 1) DEL(6, 0)
DEL(1, 3) DEL(3, 2) DEL(5, 1)

x4 DEL(0, 4) DEL(2, 3) DEL(4, 2)
DEL(1, 4) DEL(3, 3)

x5 DEL(0, 5) DEL(2, 4)
DEL(1, 5)

x6 DEL(0, 6)
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3.3.2 Backward Differences
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Table 3.3 Backward Difference Table

x y ∇ ∇2 ∇3 ∇4 ∇5 ∇6

0x 0y

1x 1y ∇ 1y

2x 2y ∇ 2y ∇2
2y

3x 3y ∇ 3y ∇2
3y ∇3

3y

4x 4y ∇ 4y ∇2
4y ∇3

4y ∇4
4y

5x 5y ∇ 5y ∇2
5y ∇3

5y ∇4
5y ∇5

5y

6x 6y ∇ 6y ∇2
6y ∇3

6y ∇4
6y ∇5

6y ∇6
6y

3.3.3 Central Differences
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Table 3.4 Central Difference Table

x y δ δ 2 δ 3 δ 4 δ 5 δ 6

0x 0y
δ 1/2y

1x 1y δ 2
1y

δ 3/2y δ 3
3/2y

2x 2y δ 2
2y δ 4

2y
δ 5/2y δ 3

5/2y δ 5
5/2y

3x 3y δ 2
3y δ 4

3y δ 6
3y

δ 7/2y δ 3
7/2y δ 5

7/2y
4x 4y δ 2

4y δ 4
4y

δ 9/2y δ 3
9/2y

5x 5y δ 2
5y

δ 11/2y

6x 6y
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3.3.4 Symbolic Relations and Separation of Symbols
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3.4 DETECTION OF ERRORS BY USE OF DIFFERENCE TABLES

A������
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Table 3.5 Detection of Errors using Difference Table

y Δ Δ2 Δ3 Δ4 Δ5

0
0

0 0
0 0

0 0 0
0 0 1

0 0 1
0 1 –5

0 1 –4
1 –3 10

1 –2 6
–1 3 –10

0 1 –4
0 –1 5

0 0 –1
0 0 –1

0 0 0
0 0

0 0
0

0
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x y Δ Δ2 Δ3 Δ4

1 3010
414

2 3424 –36
378 –39

3 3802 –75 +178
303 +139

4 4105 + 64 –271
367 –132

5 4472 – 68 +181
299 + 49

6 4771 –19 – 46
280 +3

7 5051 –16
264

8 5315
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3.5 DIFFERENCES OF A POLYNOMIAL
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3.6 NEWTON’S FORMULAE FOR INTERPOLATION
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2( 1) ( 1) ( 1)
( ) ,

2! !
n

n n n n n
p p p p p n

y x y p y y y
n

+ + … + −= + ∇ + ∇ + + ∇� �1�+:


!���� �� �� �� 2 ��
M��
����� ���!��	
�=�
 ��������
 ����������
 ��	���
��	�
�
 �
�����
 �
�� ��� ����

��#������������������������������ ��������	�����������������������������
����������

����
 	��
 ���
 
�
 ���� ��#����� �������

'�� ��
� #�� ���!
� ����� ���� ������ �
� ����� ���	���� 	��� #�� !�����
� ��

1( 1) ( 2) ( )
( ) ( ) ( ),

( 1)!
n

n
p p p p n

y x y x y
n

�++ + +− = ∇
+

�
�1�+-


!����� ��� 9� �� 9� ��� �
�� �� �� ��� 3� ���
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���� �����!�
�� ���	����� ����������� ���� ���� ��� ������ ���	�����

�������	 
�� E�
��������#�������
�	����!������� ������������!�
���������
� �+
� �� 7:�� � �1
� �� +7/�� � �-
� �� 11@�� �
� � �B
� �� B7/�� 4�
���� ��� �����!����
�#���
� ���� ������ ��� � �,
�

*�� ���	� ���� �������
��� ��#���
2 3

1 24

96

3 120 120

216 48

5 336 168

384

7 720

� � �x y

4��� �� �� 7� *��� ��� �� +��!�� ����� �� �� +�3� 7�� ����� �� ��� 2� +
M7�� &�#�������
�
����� ������ ��� �� �
� 8%�� �1�+/
� !�� �#���


3 2

1 1 1 1 1
1 1 2

1 2 2 2 2 2
( ) 24 (96) (120) (48)

2 2 6

6 11 6.

x x x x x
x

y x

x x x

− − − − −⎛ ⎞⎛ ⎞ ⎛ ⎞ ⎛ ⎞⎛ ⎞− − −⎜ ⎟⎜ ⎟ ⎜ ⎟ ⎜ ⎟⎜ ⎟− ⎝ ⎠⎝ ⎠ ⎝ ⎠ ⎝ ⎠⎝ ⎠= + + +

= + + +

��� �����	�
�� ��,
�� !�� �#������ ����� �� �� BM7�� 4�
���� 8%�� �1�+/
� ������

7 (7/2)(7/2 1) (7/2) (7/2 1) (7/2 2)
(8) 24 (96) (120) (48) 990.

2 2 6
y

− − −= + + + =

A������ ��#��������
� �
� ���
� ����� ������� ���� ��	�� ������
!
	�" ������������������
��
�����������������������	�������������
�	����� ���
����
� ��
��� ��� ������� ������������
� �
�� ����� ���	���� ��	�
�������� ���� ����
����� ��� �� ��#������� ��
����
� ��� �� ����
�	����� ���
� #���� �
����������
� �
�
������������
�!����� ����� ������ �������

�������	 
�� I��
�� C�!��
=�� ���!���� �������
��� ���	����� ��
�� ���� ��	

3 3 3 31 2 3 .nS n= + + + +�

*�� ����
3 3 3 3 3

1 1 2 3 ( 1)nS n n+ = + + + + + +�
4�
��

3
1 ( 1) ,n nS S n+ − = +



��
3( 1) .nS n� = + ��


'�� �����!�� ����

2 3 3 2
1

3 2 2

4

( 2) ( 1) 3 9 7,

3( 1) 9 7 (3 9 7) 6 12

6( 1) 12 (6 12) 6.

n n n

n

n

S S S n n n n

S n n n n n

S n n

� � �

�

�

+= − = + − + = + +

= + + + − + + = +

= + + − + =

&�
��� 5 6 0,n n nS S S� �= = =� ��� �� �������������� ����
�	���� �
� ��
E�������

1 1,S = 1 8,S� = 2
1 19,S� = 3

1 18,S� = 4
1 6.S� =

8%�����
� �1�+/
� �����

( 1)( 2) ( 1) ( 2) ( 3)
1 ( 1) (8) (19) (18)

2 6

( 1) ( 2)( 3) ( 4)
(6)

24

n
n n n n n

S n

n n n n

− − − − −= + − + +

− − − −+

� � �

4 3 2

2

1 1 1

4 2 4

( 1)
.

2

n n n

n n

= + +

+⎡ ⎤= ⎢ ⎥⎣ ⎦

�������	
�� N����������� ��
��������
��
����
��� ��������
� �
� ���� �����!�
�
��#���

�� ��
� �������
 ��
� �

+- /�7-,,+K/

7/ /�1:7/7/+

7- /�:77@+,1

1/ /�-

1- /�-B1-B@:

:/ /�@:7B,B@

A����	�
�� ���� ������ ��� ��
� 1,O�
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���� �������
��� ��#��� ��

x sin x Δ Δ2 Δ3 Δ4 Δ5

15 0.2588190
0.0832011

20 0.3420201 –0.0026029
0.0805982 –0.0006136

25 0.4226183 –0.0032165 0.0000248
0.0773817 –0.0005888 0.0000041

30 0.5 –0.0038053 0.0000289
0.0735764 –0.0005599

35 0.5735764 –0.0043652
0.0692112

40 0.6427876

��� ��
�� ��
� 1,O��!�� ����C�!��
=�� #�� !���� �������
��� ���	����!��� ��� �� :/
�
� � � 1,�� ����� �����

38 40 2
0.4.

5 5
nx x

p
h

− −= = = − = −

4�
���� ���
�� 8%�� �1�+:
�� !�� �#���


0.4( 0.4 1)
(38) 0.6427876 0.4 (0.0692112) ( 0.0043652)

2

( 0.4) ( 0.4 1) ( 0.4 2)
( 0.0005599)

6

( 0.4) ( 0.4 1) ( 0.4 2) ( 0.4 3)
(0.0000289)

24

( 0.4) ( 0.4 1) ( 0.4 2) ( 0.4 3)( 0.4 4)
(0.0000041)

120

� � �
� � � �

� � � � �
� �

� � � � � � �
�

� � � � � � � � �
�

y

�� � � � � � � �
0.6427876 0.02768448 0.00052382 0.00003583 0.00000120

0.6156614.

� � � � �

�

�������	 
�� E�
�� ����	����
�� ���	� �
� ���� �����!�
�� ��#���

0 1

1 3

2 9

3 –

4 81

x y

8�����
� !��� ���� ������� �������� ���	� 1�� �� 7B�



&�
��� ����� ���
��� ���� ����
�� ���� ����
� ����� ��
� #�� �������	����� #�� �
������ ������� ����
�	���� �
� ��� 4�
�� ����� �� /�� &�#�������
���� �� �� 2� +� �
�
��	������
��� !�� ���

4 3 2
0 0 0 0 04 6 4 0.E y E y E y Ey y− + − + =

&�
�� � � ��� �� ���� ���� �#���� �%�����
� #���	��

4 3 2 1 04 6 4 0.y y y y y− + − + =
&�#�������
�� ��� ���� ���� ��� �
�� ��� �
� ���� �#����� !�� �#���


��� �� 1+�

���� ��#������� ��
����
� ��� 1�� �
�� ���� ������ ���������� �1
� ��� 7B������ ������ ��
�����������������������������
�
�������
����
�1�� ����������	�����#��	��
����
�� ����
�	���� �
� �� ��� ������ 1�

�������	
�� ���� ��#���#���!������� �������������� ��
��� ����/�+/�������/�1/�
tan

0.10 0.1003

0.15 0.1511

0.20 0.2027

0.25 0.2553

0.30 0.3093

x y x=

E�
� � ��
 ��
 /�+7 �#
 ��
 /�7@� ��
 ��
 /�:/� �
� ��
 ��
 /�-/�

���� ��#��� ��� �������
��� ��
x y Δ Δ2 Δ3 Δ4

0.10 0.1003
0.0508

0.15 0.1511 0.0008
0.0516 0.0002

0.20 0.2027 0.0010 0.0002
0.0526 0.0004

0.25 0.2553 0.0014
0.0540

0.30 0.3093

��
 �����
����
��/�+7
��!�������/�+7 � /�+/ 3 ��/�/-
��!���������� 0.4.p =
4�
���� 8%�� �1�+/
� �����

0.4(0.4 1)
tan (0.12) 0.1003 0.4(0.0508) (0.0008)

2
0.4(0.4 1) (0.4 2)

(0.0002)
6

0.4(0.4 1) (0.4 2) (0.4 3)
(0.0002)

24

0.1205.

−= + +

− −+

− − −+

=
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�#
 ��� ��
�� ��
 �/�7@
�� !�� ���� /�7@� �� /�1/� 3� ��/�/-
�� !����� �����
�� �� 2/�,�� 4�
���� 8%�� �1�+:
� �����

0.8( 0.8 1)
tan (0.26) 0.3093 0.8 (0.0540) (0.0014)

2
0.8 ( 0.8 1) ( 0.8 2)

(0.0004)
6

0.8 ( 0.8 1) ( 0.8 2) ( 0.8 3)
(0.0002)

24
0.2662.

� � �

� � �

� � � � �
�

� � � � � � �
�

�

L�������
�� ��� �
� ���� ����� ��
� �#����� !�� �#���


��
 ��
� �/�:/
 � /�:7:+�� �
�

��
 ��
� �/�-/
 � /�--:1�

������������������� �������� ��� ���������	�������������� ��
� �/�+7
�� ��
� �/�7@
�
��
��/�:/
��
����
��/�-/
������������������/�+7/@��/�7@@/��/�:77,��
��/�-:@1�
0�	������
� ��� ���� ��	������ �
�� ������� ������� ���!�� ����� �
� ���� �������!�
������ ������ ��� �
����������

� ���� �������� �#���
��� ���� ������� ��������� !������
�
� ���� ������!�������� ���������������������

� ���������������%�������
������#���
���� ���	���� ���������� ��	�
�������� ���� �	�����
�� ������� ����� ��� �� ��#������
��
����
�������������
�������
�	��������
�������������
�������������	�������#��
��	���� !����� #�� ��
������P��������� �
����������
� ��
� #�� �������� ���� ����
�����������

3.7 CENTRAL DIFFERENCE INTERPOLATION FORMULAE

'
� ���� �������
�� ������
�� !�� �������� �
�� ���������� C�!��
=�� ���!���� �
�
#�� !�����
����������
����	������!����������������#������� �
����������
�
���
���� #���

�
�� �
�� �
�� �������������� ��� ��#������� �������� *�� ������� �
� ���
�����
�� ������
�� �������� ���� ��
����� �������
��� ���	����� !����� ���� 	���
������������
����������
�
��������	�������������#������������������
������������
��
�������� δ !��� �������� �
��������� �
� &�����
� 1�1�1�

����	�����	�����
����
������������
������	����������������������&�����
��
(������ �
�� 8�������� ������ !���� #�� ���������� �
� &�����
�� 1�B�7�� 1�B�1� �
�
1�B�:�� ��������������$����=�� ���	������ �
��������� �
�&�����
�1�B�+�#���!�����
��� �
������� ���	� �� ������������ ���
�����
�� �
���

3.7.1 Gauss’ Central Difference Formulae

'
� ����� ������
�� !�� !���� �������� $����=� ���!���� �
�� #�� !���� ���	�����

Gauss’ forward formula

*�� ��
������ ���� �����!�
�� �������
��� ��#��� �
� !����� ���� ��
����� ����
���� ��
�� �
� ���� ��
��
��
��� ��� ��� ��������
��
�� ��� �� �� ���



�����������
��������� �
� ���� ���	���� �����
� ���� ��
�� ���!
� �
���#���1�@�
���� ���	���� ���� ����������� ��� ���� ���	

2 3 4
0 1 0 2 1 3 1 4 2� � � �

� � �

� � � � � ��py y G y G y G y G y �1�+@


!���� #��� #��� "� ����� ��� #�� �����	�
��� ���� �	� �
� ���� ����� ����� ��
� #�
���������� �
� ���	���� �������� �
����������������������
����������� ��� �����!��

Table 3.6 Gauss’ Forward Formula

x y Δ Δ2 Δ3 Δ4 Δ5 Δ6

−3x −3y

−Δ 3y

−2x −2y −Δ2
3y

−Δ 2y −Δ3
3y

−1x −1y −Δ2
2y −Δ4

3y

−Δ 1y −Δ3
2y −Δ5

3y

0x 0y −Δ2
1y −Δ4

2y −Δ6
3y

Δ 0y −Δ3
1y −Δ5

2y

1x 1y Δ2
0y −Δ4

1y
Δ 1y Δ3

0y

2x 2y Δ2
1y

Δ 2y

3x 3y

0�������

0

0

2 3
0 0 0 0

(1 ) , using relation (3.8a)

( 1) ( 1) ( 2)

2! 3!

p
p

p

y E y

y

p p p p p
y p y y y

�

� � �

=

= +

− − −= + + + +�

&�	��������������������������8%���1�+@
���
������#�������������
����	���� �������
�
�� ������������� �������
���� *�� ����

2 2 1
1 0

2 1
0

2 2 3
0

2 2 3
0 0 0 0

2 3 4 5
0 0 0 0

(1 )

(1 )

( )

y E y

y

y

y y y y

y y y y

� �

� �

� � � �

� � � �

� � � �

−
−

−

=

= +

= − + − +

= − + − +

= − + − +

�

�

�
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3 3 4 5 6
1 0 0 0 0

4 4 2
2 0

4 2
0

4 2 3
0 0 0 0

4 5 6 7
0 0 0 0

(1 )

( 2 3 4 )

2 3 4

y y y y y

y E y

y

y y y y

y y y y

� � � � �

� �

� �

� � � �

� � � �

−

−
−

−

= − + − +

=

= +

= − + − +

= − + − +

�

�

�

4�
��� 8%�� �1�+@
� ������ ���� ���
����

2 3
0 0 0 0

( 1) ( 1) ( 2)

2! 3!

p p p p p
y p y y y� � �− − −+ + +

4
0

( 1) ( 2) ( 3)

4!

p p p p
y�− − −+ +�

2 3 4 5
0 1 0 2 0 0 0 0

3 4 5 6
3 0 0 0 0

4 5 6 7
4 0 0 0 0

( )

( )

( 2 3 4 )

y G y G y y y y

G y y y y

G y y y y

� � � � �

� � � �

� � � �

= + + − + − +

+ − + − +

+ − + − + +

�

�

� � �1�+B


8%����
�� �������������
����������������������� �������
�#�������������8%�� �1�+B
�
!�� �#���


1

2

3

4

,

( 1)
,

2!

( 1) ( 1)
,

3!

( 1) ( 1) ( 2)
.

4!

G p

p p
G

p p p
G

p p p p
G

= ⎫
⎪
⎪− ⎪=
⎪
⎪
⎬+ − ⎪=
⎪
⎪
⎪+ − −= ⎪⎭

�1�+,


Gauss’ backward formula

����� ���	��������� �����������
����!����� �����
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�� ���!
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���#���1�B�



Table 3.7 Gauss’ Backward Formula

x y Δ Δ2 Δ3 Δ4 Δ5 Δ6

� �

−1x −1y

−Δ 1y −Δ3
2y −Δ5

3y

0x 0y −Δ2
1y −Δ4

2y −Δ6
3y

Δ 0y −Δ3
1y −Δ5

2y

1x 1y

� �

$����= #�� !���� ���	���� ��
� ���������� #�� ����	��� ��� #�� ��� ���� ���	
2 3 4

0 1 1 2 1 3 2 4 2py y G y G y G y G y� � � �− − − −′ ′ ′ ′= + + + + +� �1�+K


!���� 1 2, ,G G′ ′ � ����� ��� #�� �����	�
��� E����!�
�� ���� ��	�� ���������� ��
�
 $����= ���!���� ���	���� !�� �#���


1

2

3

4

,

( 1)
,

2!

( 1) ( 1)

3!

( 2) ( 1) ( 1)

4!

G p

p p
G

p p p
G

p p p p
G

′ = ⎫
⎪

+ ⎪′ = ⎪
⎪

+ − ⎪′ = ⎬
⎪
⎪+ + −′ = ⎪
⎪
⎪
⎭�

�1�7/


�������	
�� E��	����������!�
����#������
������������������������
��$����=
���!���� ���	����

1.00 2.7183

1.05 2.8577

1.10 3.0042

1.15 3.1582

1.20 3.3201

1.25 3.4903

1.30 3.6693

xx e

*�� ����
1.17 1.15 (0.05),p= +
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!����� �����
0.02 1

.
0.05 4

p = =

���� �������
��� ��#��� ��� ����
� #���!�

x e x Δ Δ2 Δ3 Δ4

1.00 2.7183
0.1394

1.05 2.8577 0.0071
0.1465 0.0004

1.10 3.0042 0.0075 0
0.1540 0.0004

1.15 3.1582 0.0079 0
0.1619 0.0004

1.20 3.3201 0.0083 0.0001
0.1702 0.0005

1.25 3.4903 0.0088
0.1790

1.30 3.6693

I��
�� ���	����� �1�+@
� �
�� �1�+,
�� !�� �#���


1.17 2 (2/5)(2/5 1)
3.1582 (0.1619) (0.0079)

5 2

(2/5 1) (2/5) (2/5 1)
(0.0004)

6

3.1582 0.0648 0.0009

3.2221.

e
−= + +
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3.7.2 Stirling’s Formula
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3.7.3 Bessel’s Formula
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3.7.4 Everett’s Formula
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3.7.5 Relation between Bessel’s and Everett’s Formulae
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3.8 PRACTICAL INTERPOLATION
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0.61 1.840431

0.62 1.858928

0.63 1.877610

0.64 1.896481

0.65 1.915541

0.66 1.934792

0.67 1.954237

xx y e=

���� ��#��� ��� �������
���� ��

x y = ex Δ Δ2 Δ3 Δ4

0.61 1.840431
0.018497

0.62 1.858928 0.000185
0.018682 0.000004

0.63 1.877610 0.000189 –0.000004
0.018871 0

0.64 1.896481 0.000189 0.000002
0.019060 0.000002

0.65 1.915541 0.000191 0.000001
0.019251 0.000003

0.66 1.934792 0.000194
0.019445

0.67 1.954237

0�������

0.644 0.64
0.4.

0.01
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0.018871 0.019060 0.16
(0.644) 1.896481 0.4 (0.000189)

2 2

1.896481 0.0075862 0.00001512

1.904082,

y
+= + +

= + +

=

!�����(�����=�� ���	���� �����
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2 2
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1.904082.
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0.6 (0.36 1)
(0.644) 0.6 (1.896481) (0.000189)

2
0.4 (0.16 1)

0.4 (1.915541) (0.000191)
2

1.1378886 0.000012096 0.7662164 0.000010696

1.904082.
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�������	 
��� E��	� ���� ��#��� ���8��	���� 1�+/�� ��
�� ���� ������ ��� ���!��
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�� &�����
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'�� !��� 	�
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��� �
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�=�� ���	���� ������ ���� 	���
���������������� ��� 2+M:�������+M:���
��(�����=�� ���	���� ���	�����������
�� ���
+M:������� 1M:�� '
������� ������� ������ ���	������!�� ����������� ����� ��� ������
��� ��� ����� �� ���������� ���� ������������ �
�%�������

��� ���� &�����
�=�� ���	����� !�� ������ ��� �� /�@:� �
�� ��� �� /�@1,� ��� ����
�� �� 2/�7�� 4�
���

0.018871 0.019060 0.04
(0.638) 1.896481 0.2 (0.000189)

2 2

1.896481 0.0037931 0.0000038

1.892692,

y
+= − ⋅ +

= − +

=

!����� ��� �������� ��� ���� ����� ����	��� ������
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0.8(0.8 1)
(0.638) 1.877610 0.8(0.018871) (0.000189)

2

1.877610 0.0150968 0.0000151

1.892692, as before.
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x y = e–x Δ Δ2 Δ3 Δ4

1.72 0.1790661479
–17817379

1.73 0.1772844100 177285
–17640094 –1762

1.74 0.1755204006 175523 13
–17464571 –1749

1.75 0.1737739435 173774 22
–17290797 –1727

1.76 0.1720448638 172047 15
–17118750 –1712

1.77 0.1703329888 170335
–16948415

1.78 0.1686381473
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3
(1.7475) 0.1755204006 (0.0017464571)

4
(3/4)(3/4 1) 0.0000175523 0.0000173774

2 2

0.1755204006 0.00130984284 0.00000163734 0.00000000137

0.1742089218, correct to ten decimal places.
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(1/4)(1/16 1)
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4 6
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(0.1737739435) (0.0000173774)
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0.1742089218, as before
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3.9 INTERPOLATION WITH UNEVENLY SPACED POINTS

'
� �����������
��������
���!��������������� �
����������
� ���	����������	���
�	�����
��� �
�� ���������� ������ ���������� ���� �
� ��	�� �������� (���� ��� ���!���
 
�!
��������������������������
����������%����
���������������������
����
��
�
�����#��� ��� #�� �%������ �������� '�� ��� ���������� ������#��� ��� ����� �
����������

���	�����!���� �
�%������ ������� ������� ��� ���� ����	�
���*�� ��������� �
� ���
�����
��������
��
������
������������������	��������
�6����
��=���
����������

���	���� !����� ����� �
��� ���� ��
����
� �������� ���
� 4��	���=�� �
����������

���	����!����������	��������6����
��=�����	���������
�C�!��
=����
������
����������

���	���� !����� ����� !���� ���� ������� �������� �������
���� �
�
���
 ��� �
=� 	����� ��� �
����������
� #�� ��������
�

3.9.1 Lagrange’s Interpolation Formula
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10
( 3) ( 4) ( 6) (1) ( 4) ( 6)

log 301 (2.4771) (2.4829)
( 4) ( 5) ( 7) (4) ( 1) ( 3)

(1) ( 3) ( 6) (1) ( 3) ( 4)
(2.4843) (2.4871)

(5) (1) ( 2) (7) (3) (2)

1.2739 4.9658 4.4717 0.7106

2.4786.
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= + − +
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( 5) ( 12) (3) ( 12) (3) ( 5)
(1) (3) (4)

( 8) ( 15) (8) ( 7) (15) (7)

1 27 4

2 14 7

1.86.

x
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− − −

= + −

=
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ln

2 0.69315

2.5 0.91629

3.0 1.09861

x y x=
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2
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( 2.5) ( 3.0)
( ) 2 11 15.
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2
2ln 2.7 (2.7) 0.08164 (2.7) 0.81366 (2.7) 0.60761 0.9941164.L≈ = − + − =
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3.9.2 Error in Lagrange’s Interpolation Formula
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(2.7 2) (2.7 2.5) (2.7 3) 2 0.7 0.2 0.3
| ( ) | 0.00175,

6 8 3 8nR x
− − − × ×≤ = =

×
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( ) cos ,y x x′ = ( ) sin ,y x x′′ =− ( ) cos .y x x′′′ =−
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3.9.3 Hermite’s Interpolation Formula
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3.10.2 Interpolation by Iteration
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Table 3.8 Aitken’s Scheme

x y

0x 0y

Δ01( )x
1x 1y Δ012( )x

Δ02( )x Δ0123( )x
2x 2y Δ013( )x Δ01234( )x

Δ03( )x Δ0124( )x
3x 3y Δ014( )x

Δ04( )x

4x 4y
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Table 3.9 Neville’s Scheme

x y

0x 0y

Δ01( )x
1x 1y Δ012( )x

Δ12( )x Δ0123( )x
2x 2y Δ123( )x Δ01234( )x

Δ23( )x Δ1234( )x
3x 3y Δ234( )x

Δ34( )x

4x 4y
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x 10log x

300 2.4771
2.47855

304 2.4829 2.47858
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307 2.4871
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3.11 INVERSE INTERPOLATION
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4 1
1.750

12 3 1.857
1.600

19 4

y x
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4 1
1.750

12 3 1.857
2.286

19 4

y x

4�
��� #���� ���� ����	��� ����� ��� ���� ��	�� ������� ����	������� '
� ���������
��!������C������=������	���������#������������ ���� ������	���� �����
� ����� �

����� ����	�� ������ ���
��� !����� ���� 
������� ��� ��� ���� ����� ���� �
����������

�� .rx x= '�� ���� ��� �������� �	�����
�� ��� ��	�	#��� ����� �
������ �
����������

�����
���
������	��
�
������
�����
	��
����	�
�
��
������.������
��
	��
��	������

*��
� ���� ������� ��� �� ���� �%������ �������� ���� 	������ ��� ����������
�������	����
��� ������#��� #���!�� ������� #�� �����

Method of successive approximations
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x y = x3 Δ Δ2 Δ3

2 8
19

3 27 18
37 6

4 64 24
61

5 125

4��� 2 3
0 0 0 010, 8, 19, 18 and 6.uy y y y y� � �= = = = = ���� ����������

�������	����
�� ��� �� ����� ����������

1

2

3

4

5

0.1532(0.1532 1) 0.1532(0.1532 1) (0.1532 2)
2 (18) (6) 0.1541

2 6

0.1541(0.
2

0.1 (0.1 1)
2 (18) 0.15

2

0.15 (0.15 1) 0.15 (0.15 1) (0.15 2)
2 (18) (6)

2 6

1

19

1
(2) 0.1

19

1

19

1
0.1532

19

1

19

u

u

u

u

u

− − −
− − =

−

−− =

− − −
− −

= −

⎡ ⎤= ⎢ ⎥⎣ ⎦

⎡ ⎤= =⎢ ⎥⎣ ⎦

⎡ ⎤= ⎢ ⎥⎣ ⎦

= 1541 1) 0.1541(0.1541 1) (0.1541 2)
(18) (6) 0.1542.
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− − −
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⎢ ⎥⎣ ⎦

*��� ����������� �� � �� �� /�+-:� �������� ��� ������ ����	��� ������� 4�
��� ���
������ ��� �� �!����� ��������
��� �� �� �� +/
� ����� ���� ��#�� ����� ��� +/� ��� ����

#�� ��� 3� ��� �� 7�+-:�

��������	������	�
�������������������
�����#��!��
������
�������
����������

�
�� ���� �������
� ��� ����#����� �%�����
��

3.12 DOUBLE INTERPOLATION
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x

y 0 1 2 3 4

0 0 1 4 9 16

1 2 3 6 11 18

2 6 7 10 15 22

3 12 13 16 21 28

4 18 19 22 27 34
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0 6.5
1 8.5
2 12.5
3 18.5
4 24.5

y z
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4.1 INTRODUCTION
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4.2 LEAST SQUARES CURVE FITTING PROCEDURES
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4.2.5 Curve Fitting by a Sum of Exponentials
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4.3 WEIGHTED LEAST SQUARES APPROXIMATION
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Table 4.1 Orthogonal Polynomials*

    Name fj (x) Interval W(x)

Jacobi α β( , )( )nP x [–1, 1] α β α β− + > −(1 ) (1 ) ( , 1)x x

Chebyshev ( )nT x −[ 1, 1] −− 2 1/2(1 )x
(first kind)

Chebyshev ( )nU x −[ 1, 1] − 2 1/2(1 )x
(second kind)

Legendre ( )nP x −( 1, 1) 1

Laguerre ( )nL x ∞[0, ) −xe

Hermite ( )nH x −∞ ∞( , ) − 2xe
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4.4.2 Gram–Schmidt Orthogonalization Process
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4.5 APPROXIMATION OF FUNCTIONS
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4.5.1 Chebyshev Polynomials

����$�����������
���
	�
����������������������	������
�63(� (7 	�����	��� ��
������
��	��

1( ) cos ( cos ),nT x n x−= -#�%<.

���
���	��� ��

���� 	

��	���
�� ���� ��
��	��

( ) ( ).nnT x T x−= -#�%=.

0�� 1cos x �
− = �� ���� cosx �= ���� -#�%<.� �	���

( ) cos .nT x n�=
?����

0 ( ) 1T x = ��� 1( ) .T x x=

@�	��� ���� ��	����
���	�� 	����	��

cos ( 1) cos ( 1) 2cos cos ,n n n� � � �− + + =
�������	�����	
�

1 1( ) ( ) 2 ( ),n n nT x T x xT x− ++ =
��	��� 	�� ���� ��
�� ��

1 1( ) 2 ( ) ( ).n n nT x xT x T x+ −= − -#�%>.

��	�� 	�� ���� ����������	 ��������� ��	��� ���� ��� ����� ��� �������	��
�� ��
����
�

 ( ),nT x �	���� ��� ���� 0 ( )T x ��� 1( ).T x ���� �	���� ������ $��������
��
���
	�
�����9

�#�$��� 
�� ��%� ��	� &��'��� ����(!� $��� $��
���� 	�
��
�� ��	� �
���� ���
���
����� �$
)��������� ��
������
�"

"����	
�#�%9 2�����	
��	������!����	��� 149



150 $��
����#9 0�����"�����������!���	�����������
�

0

1

2
2

3
3

4 2
4

5 3
5

6 4 2
6

( ) 1

( )

( ) 2 1

( ) 4 3

( ) 8 8 1

( ) 16 20 5

( ) 32 48 18 1.

T x

T x x

T x x

T x x x

T x x x

T x x x x

T x x x x

= ⎫
⎪
⎪=
⎪
⎪= −
⎪
⎪= − ⎬
⎪

= − + ⎪
⎪
⎪= − +
⎪
⎪= − + − ⎭

-#�/8.

���� ������ ��� ���� �	���� ����� $��������� ��
���
	�
�� ���� ������ 	�� !	�� #�(

–1 0 1 x

–1

1
T x4( )

T
x

1
( )

T x3( )T x2( )

T xn( )
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4.5.2 Economization of Power Series
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4.6 FOURIER APPROXIMATION
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4.6.1 Fourier Transform
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4.6.2 Discrete Fourier Transform (DFT)
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4.6.3 Fast Fourier Transform (FFT)
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Figure 4.5 Second stage of the decomposition.
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Table 4.2 Input Data in the Reversed Bits

Input position Binary digits Reversed bits Index of the
sequence

0 000 000 0
1 001 100 4
2 010 010 2
3 011 110 6
4 100 001 1
5 101 101 5
6 110 011 3
7 111 111 7
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Figure 4.7 A typical butterfly.
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Figure 4.8 Flow-graph for Example 4.19.
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Figure 4.9 Flow-graph for Example 4.20.
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4.6.5 Sande–Tukey Algorithm (DIF–FFT)
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Figure 4.10 Flow-graph for the first stage of Sande–Tukey algorithm.
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Figure 4.11 Second stage for Sande–Tukey algorithm.
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Figure 4.12 8-point flow-graph for Sande–Tukey algorithm.
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4.6.6 Computation of the Inverse DFT

���� 	������� O!�� 	�� ���	���� ��

1

0

1
, 0,1, , 1.

N
kp

k p N
p

f F W k N
N

�

�

�

� � � ��

$�
���	�����	���O!�� ������ ����� ���� �������� kp
NW � ����� �������� �	����� ���

	����� ���� ������� ����� 	������������� ���� ����� ���� �	��
� ������� 	�� �	�	���� ��
+��?����� �����
��'���������� ������
��
��	������O!�������
�����������������
���� ��
�����	��� ��� 	������� O!�� ������ 
��	��� ���� ������ ��������

�������	
�
� @�	���"����3�������
���	��
���	�������O!�����������������

��� 1� P(�� +�� &�� #Q�

;�� ����� ���� ���'�����	���

� � � � � � � �

1

2 2
0

rk
r k

k

F g W
=

= ∑

���
1

2 1 2
0

rk
r k

k

F h W+
=

= ∑
�	 1� 8�� (

�����

��� 1� ��� 4� ����� ���� ��� 1� -��� 3	 ����. 4
kW

;	�� ��� 1� P(�� +�� &�� #Q�� ��� ����	�

��� 1� ��� 4� ��� 1� #� ��� 1� ��� 4� ��� 1� /,

��� 1� ��� 3� ��� 1� 3+� ��� 1� -��� 3� ��.� 1
4W � 1� 3+-3�.� 1� +�

?����
(�� 1� ��� 4� ��� 1� (8�� (�� 1� ��� 4� ��

1
2W � 1� ��� 3� ��� 1� 3+

1
0

1 2 0 1
0

– 2 2 ,k
k

F h W h h i
=

= = + = +∑
1

1
3 2 0 1 2 0 1

0

– 2 2 .k
k

k

F h W h h W h h i
�

� � � � � � ��

?����

{10, – 2 2 , 2, 2 2 }kF i i� � � � � �

�
�

�
�

�
�

�
�

�



���� �
��'������ ���� ��	�� ��
�����	��� 	�� ������ 	�� !	��� #�(&�

Figure 4.13 Flow-graph for Example 4.21.
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5.1.1 Linear Splines
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5.1.2 Quadratic Splines
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x (in degrees) Cubic spline values Exact values

5 0.087155743 0.087155530

15 0.258819045 0.258818415

25 0.422618262 0.422617233

35 0.573576436 0.573575040

45 0.707106781 0.707105059
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Figure 5.1 A typical cubic B-spline.
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5.4.1 Representations of B-splines
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Figure 5.2 Array of elements for computing s4,i.
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6.2 NUMERICAL DIFFERENTIATION
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x y Δ Δ2 Δ3 Δ4 Δ5 Δ6

1.0 2.7183

0.6018

1.2 3.3201 0.1333

0.7351 0.0294

1.4 4.0552 0.1627 0.0067

0.8978 0.0361 0.0013
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1.0966 0.0441 0.0014

1.8 6.0496 0.2429 0.0094

1.3395 0.0535

2.0 7.3891 0.2964
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2.2 9.0250
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6.2.1 Errors in Numerical Differentiation
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6.2.2 Cubic Spline Method
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10 –0.173 648 178 –0.174 089 426

20 –0.342 020 143 –0.342 889 233
30 –0.500 000 000 –0.501 270 524

40 –0.642 787 610 –0.644 420 964

50 –0.766 044 443 –0.767 990 999
60 –0.866 025 404 –0.868 226 016

70 –0.939 692 621 –0.942 080 425

80 –0.984 807 753 –0.987 310 197
90 –1.000 000 000 –1.002 541 048
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3.52727, on simplification.
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6.2.3 Differentiation Formulae with Function Values
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6.3 MAXIMUM AND MINIMUM VALUES OF A TABULATED
FUNCTION
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6.4 NUMERICAL INTEGRATION
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6.4.1 Trapezoidal Rule
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6.4.3 Simpson’s 3/8-Rule
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6.4.5 Use of Cubic Splines
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0 6( ).x x x< < �)�4)�
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�����
�	�� ��� 	�
�'
�	��B��	
�
�������
� ��� 	�
� �
	���� ��� ���
	
����
�� ��
�����
�	��� !���� ��� �
����	��	
�
���1;����
�)�+3�

�������	 
�� /���
� ����� 	�
�����������	���

�	�
���
�������
��� �	�
�����

���� 	�
 �.�;��� ���� � < 5�35 	� � < 5�4,

( ) ( )

7.47 1.93 7.50 2.01

7.48 1.95 7.51 2.03

7.49 1.98 7.52 2.06

x f x x f x
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7.52

7.47

Area ( )f x dx= ∫
��	� �� <� 9�9+
� 	�
� 	���
������� ���
� ���
�� ��� 12�� �)��,�� ���
�

0.01
Area [1.93 2(1.95 1.98 2.01 2.03) 2.06] 0.0996.

2
= + + + + + =

�������	 
�� :� ������ ��� �
����	���� ��� ����
�� � � ��	�	���� ����	� 	�
� �.�;��
	�
���
���
	�

��	�
��.�;��
�	�
����
� ��<�9 ��� ��<�+
�����������
�	������ 	�

����	�� ��	�� 	�
� ���������� ��������	
�"

0.00 1.0000

0.25 0.9896

0.50 0.9589

0.75 0.9089

1.00 0.8415

x y

1�	���	
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����	�
�����������
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�����
��	��	��

��
�����
����
��

��� �� ��� 	�
� �����
� ��� 	�
� ������ ����
�
� 	�
�� �
� 0���� 	��	

1
2

0

V y dx�= ∫
%
��
� �
� �

�� 	�
� ����
�� �� �
 ���� 	�
�
� ��
� 	�����	
�� �
���
� ����
�	� 	�
����� �
������ ����
�

2

0.00 1.0000

0.25 0.9793

0.50 0.9195

0.75 0.8261

1.00 0.7081

x y

&�	�� �� <� 9�,4
� 7������(�� ���
� ���
�

(0.25)
[1.0000 4(0.9793 0.8261) 2(0.9195) 0.7081]

3

2.8192.

V
�= + + + +

=
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1

0

1
,

1
I dx

x
=

+∫

����
�	� 	�� 	��

� �
������ ����
��
&
�����
�	����
;����
�� ���	��	�
�	���
�����������7������(�����
����	�

� < 9�4
 9�,4� ���� 9�+,4� �
��
�	��
� �
��� � < 9�4"� !�
� ����
�� ��� �� ���� �� ��
� 	�����	
�� �
���"

0.0 1.0000

0.5 0.6667

1.0 0.5000

x y

��� !���
������� ���
����
�

1
[1.0000 2(0.6667) 0.5] 0.70835.

4
I = + + =

��� 7������(�� ���
� ���
�

1
[1.0000 4(0.6667) 0.5] 0.6945.

6
I = + + =

���� � < 9�,4" !�
� 	�����	
�� ����
�� ��� �� ���� �� ��
� ���
�� �
���"

0.00 1.0000

0.25 0.8000

0.50 0.6667

0.75 0.5714

1.00 0.5000

x y

��� !���
������� ���
����
�

1
[1.0 2(0.8000 0.6667 0.5714) 0.5] 0.6970.

8
I = + + + + =

��� 7������(�� ���
� ���
�

1
[1.0 4(0.8000 0.5714) 2(0.6667) 0.5] 0.6932.

12
I = + + + + =
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0 1.0 0.625 0.6154

0.125 0.8889 0.750 0.5714

0.250 0.8000 0.875 0.5333

0.375 0.7273 1.0 0.5

0.5 0.6667

x y x y

��� !���
������� ���
� ���
�

1
[1.0 2(0.8889 0.8000 0.7273 0.6667)

16
0.6154 0.5714 0.5333) 0.5]

0.6941.

� � � � �

� � � �

�

I

��� 7������(�� ���
� ���
�

1
[1.0 4(0.8889 0.7273 0.6154 0.5333)

24
2(0.8000 0.6667 0.5714) 0.5]

0.6932.

� � � � �

� � � �

�

I

%
��
�	�
�����
����,��� ��
�	�0
��	���
�
2����	��9�)8�
�����
�	�	��	��

 �
�����
����
��� !�
� 
;��	� ����
� ��� ,� �� ����,
� ������ ��� 
2���� 	� 9�)8�+35�� !���

;����
� �
����	��	
�� 	��	
� ��� �
�
���
� 7������(�� ���
�  �
�������
� ������	

�
���	�� 	���� 	�
� 	���
������� ���
�

�������	 
��� =�
� O���
��(�� �
	���� 	�� �����	

1

0

1
,

1
I dx

x
=

+∫
����
�	� 	�� 	��

� �
������ ����
��

&
�	�0
�� < 9�4
�9�,4�����9�+,4�����
����
� �������
� 	�
��
���	����	���
� ��
	�
� ��
������ 
;����
��&
� 	�
�
���
� ���


( ) 0.7084,I h = 1
0.6970,

2
I h
⎛ ⎞ =⎜ ⎟⎝ ⎠

���
1

0.6941
4

I h
⎛ ⎞ =⎜ ⎟⎝ ⎠

%
��

� ������ 12�� �)�38�
� �
� ��	���

1 1
, 0.6970 (0.6970 0.7084) 0.6932.

2 3
I h h
⎛ ⎞ = + − =⎜ ⎟⎝ ⎠
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1 1 1
, 0.6941 (0.6941 0.6970) 0.6931

2 4 3
I h h
⎛ ⎞ = + − =⎜ ⎟⎝ ⎠

/����� 


1 1 1
, , 0.6931 (0.6931 0.6932) 0.6931.
2 4 3

I h h h
⎛ ⎞ = + − =⎜ ⎟⎝ ⎠

!�
� 	���
� ��� ����
�� ��
� 	�
�
���



0.7084
0.6932

0.6970 0.6931
0.6931

0.6941
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���
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�� ��� (��%�� ��� ����� �����
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������� ����7������(�� ���
�� 	�� 	�
� ��	
����

1
2

0

1I x dx= −∫
���	������ � �������� 	�
� ��	
����� �� ���� �
		
�� ������� �

=����� +9
 ,9
 �9
 39 ��� 49 �����	
������ ����
����
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� ��� 
�
�	������ �����	
�

��	�������
��
��������
������
�������
��	�
��
���	�����
�����!���
��
�����!�

	��
� ����
� ��� 	�
� ��	
����� �� /4 0.785 398163.π =

No. of subintervals Trapezoidal rule Simpson’s’s rule

10 0.776 129 582 0.781 752 040

20 0.782 116 220 0.784 111 766

30 0.783 610 789 0.784 698 434

40 0.784 236 934 0.784 943 838

50 0.784 567 128 0.785 073 144

�������	 
��� 1�����	

1

0

sinI x dx�= ∫
������ 	�
� ������ �����
� �
	����

!�
� 
;��	� ����
� ��� ,� �� ,-�� <� 9�)�))+856�� !�� ��0
� 	�
 �������	����� 
���
�

�
� 	�0
 �� <� ,
 ��
� �� <� 9�4�� ��� 	���� ���
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� ��� ����
�� ��� �	 ���
�� �� ���� ��� ��
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0 1 0 1 1 2 1 2
1 1 1 1

( ) ( ) ( ) ( )
4 192 4 192

1 1 1 1

4 16 4 16

5

8

0.62500000;
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= + + +

=
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� �������

1 1 0 0 1 1,
h

h

y dx a y a y a y− −
−

= + +∫ ���

��
�
� 	�
� ��
�����
�	� ���
� ��� ��� 1a ���
� 	�� �
� �
	
����
�� /��� 	���
� �

�����
� 	��	� �������� ���� ��� 
;��	���
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�� L�		���
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�
���


����� <� +
� �� ���� �
� ����
����
� � ��� ���
� �
� ��	���� 	�
� �
��	����

���

1 0 1

1 1

1 1

2 ,

0

2
.

3

h

h

h

h

a a a dx h

a a x dx

a a h

−
−

−
−

−

+ + = =

− + = =

+ =

∫

∫

(ii)

(iii)

(iv)

7������� ����
� ������ ���� ����� ���� ���
� ��� ��� ��
� �
� ��	���

1 1
2

3
a a− = = ��� 0

4
.

3

h
a =
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%
��
� �������� ���� 	�0
�� 	�
� ����

1 0 1( 4 ),
3

h

h

h
y dx y y y−

−

= + +∫
������ ��� 	�
� 7������(�� +-�.���
� ���
�� ��� 7
�	���� )�3�,�

6.5 EULER–MACLAURIN FORMULA

������
�� 	�
� 
;�������� �� +-���� B� +�� ��� ���
������ ���
��� ��� �
� ��	���
�� � 
���	���� 	�
�H��������� 
;�������� ��� �� ���� ������� ���

3 5
1 3 5

1 1 1
,

21x
B x B x B x

xe
= − + + + +

−
� �)�45�

��
�


2 0,rB = 1
1

,
12

B = 3
1

720,
B = − 5

1
,

30,240
B = � 
	��

��� 12�� �)�45�
� ��� �
� �
	� � < �&� ���� ��
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��	��� #� �� ���
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� 7
�	���� ����3�
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1 1 1

1 2
B hD B h D B h D

E hD
≡ − + + + +

−
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���
2�����
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3 3
1 3

1 1 1
( 1) ( 1) ( 1) ( 1)

1 2

n
n n n nE

E E B hD E B h D E
E hD

− = − − − + − + − +
−

� �)�46�
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��	���� 	���� ��
�	�	 � �� 0 ,y �
� ��	���

0 0 0 1 0

3
0 0 1 0 3 0

v v5
5 0

1 1 1
( 1) ( 1) ( 1)

1 2

1 1
( ) ( ) ( ) ( )

2

( ) (6.59)

n
n n n

n n n n

n

E
y E y E y B hD E y

E hD

y y y y B h y y B h y y
hD

B h y y

− = − − − + − +
−

′ ′ ′′′ ′′′= − − − + − + −

+ − +
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0 1 2 1 0
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h h
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� ��� 	���� �������� ��� �����	��	
�� � � 	�
� ���������

;����
��

�������	 
��� 1�����	

/ 2

0

sinI x dx
�

= ∫
������ 	�
� 1��
�BH��������(�� ��������

��� 	���� ���

� ������� �)�)9� ��������
�� 	�

/ 2 2 4 6

0 1 2 1

0

sin ( 2 2 2 )
2 12 720 30,240n n
h h h h

x dx y y y y y
�

−= + + + + + + + + +∫ � � ���

!�� 
�����	
� 	�
� ��	
����
� �
� 	�0
� �� <� �-3�� !�
�� �
� ��	���

/ 2 2 4

0

2 4

sin (0 2 0)
8 192 1,84,320

, approximately
4 192 1,84,320

0.785398 0.051404 0.000528

0.837330.

xdx
�

� � �

� � �

= + + + + +

= + +

= + +

=

∫ �

?�� 	�
� �	�
�� ����� ��	�� �� <� �-6
� �
� ��	���
/ 2

0

sin [(0 2(0.382683) .707117 0.923879 1.000000)]
16

0.987119 0.012851 0.000033

1.000003.

�

�

� � � � �
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�

� xdx
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%
�
 � ���� <� �

� ������ <� ,�� ���� �� <� +�
%
��
� 12� ���� ���
�

2 2

1

3 2

3 2

1 1
Sum ( 1) (2 2)

2 12

1 1 1
( 1) ( 1) ( 1)

3 2 6

1
(2 3 )

6

( 1)(2 1)
.
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x dx n n

n n n

n n n

n n n

= + + + −

= − + + + −

= + +

+ +=

∫

6.6 NUMERICAL INTEGRATION WITH DIFFERENT STEP SIZES
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Table 6.1 Abscissae and Weights for Gaussian Integration

n ± iu iW

2 0.57735 02692 1.0

3 0.0 0.88888 88889

0.77459 66692 0.55555 55556

4 0.33998 10436 0.65214 51549

0.86113 63116 0.34785 48451

5 0.0 0.56888 88889

0.53846 93101 0.47862 86705

0.90617 98459 0.23692 68851

6 0.23861 91861 0.46791 39346

0.66120 93865 0.36076 15730

0.93246 95142 0.17132 44924
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6.9 NUMERICAL CALCULATION OF FOURIER INTEGRALS
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Table 6.2 Values of the Integral (6.91)

� Exact value Value obtained by using (6.92)

1.0 0.500 000 000 0.500 833 622

3.0 0.100 000 000 0.100 836 955

6.0 0.027 027 027 0.027 875 426

9.0 0.012 195 121 0.013 063 154

12.0 0.006 896 552 0.007 793 302

20.0 0.002 493 766 0.003 524 142

6.10 NUMERICAL DOUBLE INTEGRATION
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7.3 LU DECOMPOSITION OF A MATRIX
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7.4 VECTOR AND MATRIX NORMS
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7.5 SOLUTION OF LINEAR SYSTEMS—DIRECT METHODS
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7.5.1 Gauss Elimination
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7.5.2 Necessity for Pivoting
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7.5.3 Gauss–Jordan Method

/�������
��������
������������%
�����
����
������������������������

�����������
	�������
�������
����E���������
����
������������
����
���������


����
������
/������������������� ��������	
�E� ��	���������� ����	�
��� ���� ��
������ 
��� ��
	���� �

����
���� 	�� ���� ��

������ ��
��
��

�������	 
�� "�
��� ���� ������� 1���� ;�
��
�� #�<2

2 10

3 2 3 18

4 9 16.

x y z

x y z

x y z

+ + =

+ + =

+ + =
	�� ���� %
���('���
���������



;
����
����� ��� �� ����� ���� ������� 
��� ������ ���
������ ��� ����� 
�� ��
C%
���� �
����
����D� 
��� ��� �	�
��� ���� ������

2 10

(1/2) (3/2) 3

(7/2) (17/ 2) 11.

x y z

y z

y z

+ + =

+ =

+ =
,�����������E�����'�����
����
�����������	������������
������������
������ /���
��������

2x z− = 
�� 5.z =
9����� ���� ������� 	������+

2

3 6

5.

x z

y z

z

− =

+ =

=
;�

�
����� ��� '� 
��� �� ��� �����

� 
��� ���� ����
�� ��� ���� �
��� 
�� 	������
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7.5.5 Number of Arithmetic Operations
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7.5.6 LU Decomposition Method
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7.5.7 Computational Procedure for LU Decomposition Method
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7.5.9 Solution of Tridiagonal Systems
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7.5.10 Ill-conditioned Linear Systems
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7.5.11 Method for Ill-conditioned Systems
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7.6 SOLUTION OF LINEAR SYSTEMS—ITERATIVE METHODS
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Table 7.1 Gauss–Seidel Method

n x1 x2 x3 x4

1 0.3 1.56 2.886 –0.1368

2 0.8869 1.9523 2.9566 –0.0248

3 0.9836 1.9899 2.9924 –0.0042

4 0.9968 1.9982 2.9987 –0.0008

5 0.9994 1.9997 2.9998 –0.0001

6 0.9999 1.9999 3.0 0.0

7 1.0 2.0 3.0 0.0
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Table 7.2 Jacobi’s Method

n x1 x2 x3 x4

1 0.3 1.5 2.7 –0.9

2 0.78 1.74 2.7 –0.18

3 0.9 1.908 2.916 –0.108

4 0.9624 1.9608 2.9592 –0.036

5 0.9845 1.9848 2.9851 –0.0158

6 0.9939 1.9938 2.9938 –0.006

7 0.9975 1.9975 2.9976 –0.0025

8 0.9990 1.9990 2.9990 –0.0010

9 0.9996 1.9996 2.9996 –0.0004

10 0.9998 1.9998 2.9998 –0.0002

11 0.9999 1.9999 2.9999 –0.0001

12 1.0 2.0 3.0 0.0
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7.7 MATRIX EIGENVALUE PROBLEM
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7.7.2 Householder’s Method
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7.7.3 QR Method

/��������������������������
�������
������������

����������������������
����
��� 


� ���� ������

���� ��� 
� �����

� ��������������
������A�����


��� ���� ��
'�%���� ��
������ ����������� ��� ������ ����
��
���� 
���� ����������� ��
�� 
� 	����
�������
����� ��� ������ 	�
���

-������ ���	�������������
������"���������
���������
�����3����������������

���  �7�8� 1#�002

������7�� ��� 
�� ��������

� �
����� 
��� 8�� ��� 
�� ������ ���
���

�� �
�����

/���������

7�
�����  � 8� 1#�0?2

/��� �������

� ��
����� ��� ����� ������� ��� ��� ����� ��������

� �
������
5�5��P5���� ����� ��
�

5���5���� P� 5�5����  � 8� 1#�?42

/��� �
�������5� 
��� ��� ���� ����� �� (� 766�� ����� ��
��5���� ��

� ����
��� 3����
	�
���������
���

����������������
�����5��5������

�����
���3������������������
��
���� 	�
��� ���� ��
���

�� 
��� ��� ���� !�� ��� �
���� ���� ����� ���������� ����
�
��� ��
���� ��� ���� ����� ���� ���

� ����
�� ��

� 	�� 8��� ������ ��� 
�� �����
���
���

�� �
������ /��� ��������� Q��R� ���������� ������� ��� 
� ���
���

�� �
����
������
���
�����
���

���
������!����������
��������������

�����
��	����������
�
��
��

7.8 SINGULAR VALUE DECOMPOSITION
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( , )
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f x y
dx

= ��� �!

����� ���� ���������	�����	��

0 0( )y x y= ��� 
!

����������������������	�����������������	������������	�� ����
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� 	�� ���
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����*������
���	���	��%���������&����'(������������������
������� 
� ��	���� 
�� +���� �
���� ���� ������ ������
���	��� ���� 
�� �������� �	�
��
�������� �� 	���� �� ��
����� ������ 	���� *��� �	������� ���� ������	�� ������� ���
�������� 	���� �������� ������� ����
���	��� ���� �	�#��
�')����	�����#��
�'
�	���	����������������
���
��������������
���	�����������������������������
�������� ,��������� ������-� ������ ���� �������� 	
������� 
�� ����	�-�� ������� 	�
&����'(����� 
���	���

*�� ��� �����+�	��� ����� �� ������������� ������	�� 	�� ���� ���� 	����� ����� ����
����
��������	������������������������	����	�� *��	������	��	
�����������
������
�	����	�� 	�� ����� ��� ������	��� ��� ������	��� ����� �� �	�����	��� $�	
��
�� ��
�����������������������	�����	�����������������������������
���	����	��������������
�����
���
����������	���.	���/�
����� ������	
��
���������
��%��� ��� !� �����
�����
�� �
����������	��0�� ����	����������� �����	
��
�� ���	������ ���	������
�������	����� ������������� ������	���� ���
��� �������
�� ���� �	�����	��� ��� ��	
	�� 
	��� �	����� 1���� ��	
��
�� ���� ������� �����
��� �
���� ������	��

2�������� ������������
��
���	����	���	����������������������	
��
��	�� ���
�������� !�����������������	����������������������	�������
���	����	���	�����

	������� ������ ��	
��
�� �	�� ���	���	����� ������������� ������	���

8.2 SOLUTION BY TAYLOR’S SERIES

2�� �	������� ���� ������������� ������	�

( , )y f x y′ = ��� �!
����� ���� ���������	�����	�

0 0( ) .y x y= ��� 
!

*� � ��!� ��� ���� �/���� �	����	�� 	�� %��� ��� !�� ����� ���� ����	�-�� ������� �	�� � ��!
��	���� �� 3� ��� ��� ������ 
�

2
0

0 0 0 0
( )

( ) ( )
2!

x x
y x y x x y y

−′ ′′= + − + +� ���4!

*�� ���� ������� 	� 0 0, ,y y′ ′′ … ���� +�	���� ����� %��� ���4!� ������ �� �	���� ������
�	� ��� 5����� ���� �	�
���� �	�� �	���� ������������� ��� ���� �����

,x y x yy f f y f f f f′′ ′ ′= = + = +

������ ���� �����/��� ���	��� �������� ������������ ����� �������� �	� ���� �����
��
�	��������� 1�
�������� ��� 	
����

2 2

( ) ( )

2

xx xy yx yy y x y

xx xy yy x y y

y f f f f f f f f f f f f

f ff f f f f ff

′′′ ′′= = + + + + +

= + + + +

���� 	����� ������� ������������ 	�� �� ���� 
���	�� ���� ������� 
�� �/������� �	
��
������	��� ���� �������	����� ������������� ������	���
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�������	 
�� .�	
� ���� ����	�� ������� �	�� � ��!�� ����� � �9� !� �	������ �	� �	��
����
��� ������� ��� � ��!� ���������

2y x y′ = − ��� (0) 1.y =

���� ����	�� ������� �	�� � ��!� ��� ������ 
�
2 3 4 5

iv v
0 0 0 0 0( ) 1

2 6 24 120

x x x x
y x xy y y y y′ ′′ ′′′= + + + + + +�

���� ����������� 0 0, ,y y′ ′′ … ����� ���� 	
������� ����"

2 0

0

2 0

iviv
0

vv iv 2
0

1( )

3( ) 1 2

8( ) 2 2

34( ) 2 6

186( ) 2 8 6

yy x x y

yy x yy

yy x yy y

yy x yy y y

yy x yy y y y

′ = −′ = −

′′ =′′ ′= −

′′′= −′′′ ′′ ′= − −

=′′′ ′ ′′= − −

= −′ ′′′ ′′= − − −

5����� ������ �������� ���� ����	�� ������� 
��	
��

2 3 4 53 4 17 31
( ) 1

2 3 12 20
y x x x x x x= − + − + − +�

�	�	
����� ����������	��� �9� !��	������ �	��	�������
����������� ��� ��� �	��������
���� ���
�� ��� �	� �
� ��	���� 
�� �	���������� ���� ��� ���� (0.1) 0.9138.y =

1���	��� ����� ��� ����� �	� ����� ���� ������ 	�� ������� 	�� �� �	�� ������ ���
�
	����������� ���������������� ���� ���
��	����������
������
������� �	��	
����
���� ������� 	�� �� �	������ �	� �	��� ����
��� ��������2�� ����� 	���� �	� �����

531
0.00005

20
x ≤ 	� 0.126.x ≤

�������	 
�
 :����� ���� ������������� ������	�

0y xy y′′ ′− − =
����� ���� �	�����	��� ��9!� 3�  � ��� ���9!� 3� 9� ���� ����	�-�� ������� 
���	�� �	
�����
���� ���� ������ 	� � �9� !�

2�� ����� � ��!� 3�  � ���� ����!� 3� 9� ����� �� 3� 9�� ���� ������ ������������
������	�� ��

( ) ( ) ( )y x xy x y x′′ ′= + ��!

;���� ����9!� 3� ��9!� 3�  �� 1���������� �������������	�� 	�� ��!� �����

iv

v iv iv

vi v iv iv v iv

( ) ( ) ( ) ( ) ( ) 2 ( ),

( ) ( ) ( ) 2 ( ) ( ) 3 ( ),

( ) ( ) ( ) 3 ( ) ( ) 4 ( ),

( ) ( ) ( ) 4 ( ) ( ) 5 ( ),

y x xy x y x y x xy x y x

y x xy x y x y x xy x y x

y x xy x y x y x xy x y x

y x xy x y x y x xy x y x

′′′ ′′ ′ ′ ′′ ′= + + = +

′′′ ′′ ′′ ′′′ ′′= + + = +

′′′ ′′′ ′′′= + + = +

= + + = +

(ii)

(iii)

(iv)

(v)



���� ��
������� �	�� ������� ������������ $������ 0x = ��� ���!� �	� ��!�� ��� 	
����

(0) 2 (0) 0,y y′′′ ′= = iv (0) 3 (0) 3,y y′′= = v (0) 0,y = vi (0) 5.y =
)�� ����	�-�� �������� ��� ����

2 3 4
iv

5 6
v vi

( ) (0) (0) (0) (0) (0)
2 6 24

(0) (0)
120 720

x x x
y x y xy y y y

x x
y y

′ ′′ ′′′= + + + +

+ + +�

;����

2 4 6(0.1) (0.1) (0.1)
(0.1) 1 (3) (5)

2 24 720

1 0.005 0.0000125, neglecting the last term

1.0050125, correct to seven decimal places.

y = + + + +

= + +

=

�

8.3 PICARD’S METHOD OF SUCCESSIVE APPROXIMATIONS

*����������� ���� ������������� ������	�� ������ ��� %��� ��� !�� ��� 	
����

0

0 ( , ) .
x

x

y y f x y dx= + ∫ ���<!

%�����	�� ���<!�� ��������� ������+�	��� ������	���� �������������� ���� ��������
������ ��� ������� ��� ������
�� ���
����� 1���� ��� ������	�� ���� 
�� �	����� 
�� ���

���	�� 	�� ����������� ����	/�
���	��� ��������� ���� ������ ����	/�
���	�� �	� �
��� 	
������� 
�� �������� ��� �	�� �� 	�� ������ ����� 	�� %��� ���<!�� ���� ��� �����

0

(1)
0 0( , )

x

x

y y f x y dx= + ∫
�������������	�����������������	��
���	���������������������������������
��������
�	�� �� ��� ���� ���������� 	�� %��� ���<!� �	� 	
����� ���� ���	��� ����	/�
���	�� ����"

0

(2) (1)
0 ( , )

x

x

y y f x y dx= + ∫
$�	�������� ��� ����� ����� ��� 	
���� (3) (4) ( 1), , , ny y y −… ��� ( ),ny �����

0

( ) ( 1)
0 ( , )

x
n n

x

y y f x y dx−= + ∫ ���� (0)
0y y= ���=!
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;����������
���	��������������������	������	/�
���	��� (1) (2) ( ), , , ny y y… ���
��� ���� 
�� ��	���� ������ �	�� �/�
����� ���� 
		+� 
�� >���� ���� )���	�!� ����� ��
���� ������	�� � �����!� ���
	������ ��� �	
�� ����	���
	��� �����	��� 0 0( , )x y ���
�� ( , )f x y ���������� ���� �����
���� ����������� ��?��

| ( , ) ( , )| | |f x y f x y K y y− ≤ − ��
����� �� �	������ ���@!

����� ���� �������� (1) (2), ,y y … �	�������� �	� ���� �	����	�� 	�� %��� ��� !�

�������	 
�� 1	��������������	� 2,y x y′ = + ��
A�����	������	�����	� 1y =
���� 0.x =

2�� ������ ���� (0) 1y = ���� 	
����

(1) 2

0

1
1 ( 1) 1 .

2

x

y x dx x x= + + = + +∫
����� ���� ���	��� ����	/�
���	�� ��

2
(2) 2

0

2 3 4 5

1
1 1

2

3 2 1 1
1 .

2 3 4 20

x

y x x x dx

x x x x x

⎡ ⎤⎛ ⎞= + + + +⎢ ⎥⎜ ⎟⎝ ⎠⎢ ⎥⎣ ⎦

= + + + + +

∫

*�� ��� 	
��	��� ����� ���� ���������	���
�����
��	
��
	��� ����
	������������� ��
��� ��	����� �	� ������� ����	/�
���	���

�������	 
�� :����� ���� ������������� ������	�

2

2 1

dy x

dx y
=

+
����� ���� ���������	�����	� 0y = ���� 0,x = �����$�����-��
���	�� �	�	
���� �
�	� 0.25, 0.5x = ����  �9� �	������ �	� ������ ����
��� �������

2�� ����
2

2
0

.
1

x
x

y dx
y

=
+∫

1������ (0) 0,y = ��� 	
����

(1) 2 3

0

1

3

x

y x dx x= =∫
���

2
(2) 1 3 3 9

6
0

1 1 1
tan

3 3 81(1/9) 1

x
x

y dx x x x
x

− ⎛ ⎞= = = − +⎜ ⎟⎝ ⎠+∫ �



�	� ����� ����� ���� ����� ������ �	� ���� ������ ���
�� ��?��� � B<!��� �	� ����� ���� �����
	�� ������� 	�� �� �	� ����� ���� ������� ����� ���� ���
� � B<!��� ��	��� ����� ����� ���
������� �	������ �	� ������ ����
��� �������� ��� ���

91
0.0005

81
x ≤

������ ������

0.7x ≤
;����

3

3

1
(0.25) (0.25) 0.005

3

1
(0.5) (0.5) 0.042

3

1 1
(1.0) 0.321

3 81

y

y

y

= =

= =

= − =

8.4 EULER’S METHOD

2��������	�������������������
���	��������������������	����	��	����������������
������	�� ��� ���� �	�
� 	�� �� �	���� ������� 2������� �	�� ������
�� ����
���	��
������ ����� ���� �	����	�� ��� ���� �	�
� 	�� �� ���� 	�� ��
������� �������

1���	��� ����� ��� ����� �	� �	���� ���� %���� ��� !� �	�� ������� 	�� �� ��
�� 3� ��� 3� ��� C� �
��� 3�  �� 4��D!�� *����������� %��� ��� !�� ��� 	
����

1

0

1 0 ( , ) .
x

x

y y f x y dx= + ∫ ���E!

#���
���� ���� 0 0( , ) ( , )f x y f x y= �� 0 1,x x x≤ ≤ ����� ������%����-�� �	�
���

1 0 0 0( , ).y y hf x y≈ + ���F�!

1�
������� �	�� ���� ������ 1 2 ,x x x≤ ≤ � ��� ����
2

1

2 1 ( , ) .
x

x

y y f x y dx= + ∫
1�
��������� 1 1( , )f x y �	� ( , )f x y �� 1 2x x x≤ ≤ ��� 	
����

2 1 1 1( , ).y y hf x y≈ + ���F
!

$�	�������� ��� ����� ����� ��� 	
����� ���� �������� �	�
���

1 ( , ),n n n ny y hf x y+ = + 0,1, 2,n = … ����!

���� ��	����� ��� ����� ��	�� ���� �	� 	
����� ����	��
��� ��������� ����� %����-�

���	��� ��� ����� �	� ��+�� �� �
������ ������ �	�� 
�� )������� 	�� ����� ���������	�
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	�� 
�� ���� 
���	�� ��� �������
��� �	�� ���������� ���� ���� �� 
	��������	�� 	�� ���
+�	����������	��������������	��
����������������
	�������������������������

�� ������
��� ��� 1����	�� ��=�4�

�������	 
�� �	� ����������� %����-�� 
���	��� ��� �	������� ���� ������������
������	� y y′ = − ����� ���� �	�����	� (0) 1.y =

1���������� ���������	�� 	�� %��� ����!� ���� 0.01h = �����

(0.01) 1 0.1( 1) 0.99

(0.02) 0.99 0.01 ( 0.99) 0.9801

(0.03) 0.9801 0.01 ( 0.9801) 0.9703

(0.04) 0.9703 0.01 ( 0.9703) 0.9606.

y

y

y

y

= + − =

= + − =

= + − =

= + − =

���� �/���� �	����	�� �� xy e−= ���� ��	
� ����� ���� ������ �� 0.04x = ��� 9�GE9��

8.4.1 Error Estimates for the Euler Method

>��� ���� ����� �	����	�� 	�� ���� ������������� ������	�� ��� �� 3���� 
�� ����!� ���� ���	
���� ���� ����	/�
���� �	����	�� 
�� ���� 7	��� �/�������� ������!� 
�� ����	�-�
�������� ��� ���

2

1

2

1

( ) ( ) ( ) ( )
2

( ) ( ) ( ), where .
2

� �

�

�

� � � �� ��

� � � � �� ��

�n n n n

n n n n n n

h
y x y x hy x y x

h
y x hy x y x x ���G!

2�� �������� ���	������ ��	� ������ 	�� ���	��� ��� ���� �	����	�� 	�� ������������
������	���� ������ ���� ��!� �	���� ���	���� ���� ���!� �	������� ���	���� ���� �	���
���	�� ��� ���� ������� 	�� ���������� ���� ������ ������������� ������	�� 
�� 
����� 	�
���� ������	�

1 .n n ny y hy+ ′= +
����� ���	�� ��� ������ 
�

2
1

1
– ( )

2n nL h y �+ ′′= ��� 9!

���� �	���� ���	�� ��� ����� �������� 
�

���3� ��� '� ����! ���  !

1����� ��� ��� �/����� ��� �	��	��� ����� ��� 3� 9�
7���������� ���� �	������� ���	��� ��� ������ ���� �	���� �	����	�� ���	�� ��

[ ]
[ ]

1 1 1

1

1

( )

– ( ) ( ) –

( , ) – ( ) .

n n n

n n n n n

n n n n n

e y y x

y hy y x hy x L

e h f x y y x L

+ + +

+

+

= −
′ ′= + +

′= + +



� � �1 1( , ) ( , ( )) .
� �
� � � �n n n n n n ne e h f x y f x y x L

)�� 
���� ������ ���	��
�� ��� �����

� �( , ) ( , ( )) – ( ) ( , ), ( ) .� �
�

� � � �
�

n n n n n n n n n n n
f

f x y f x y x y y x x y x y
y

;������ ��� ����

1 11 ( , )n n y n n ne e hf x L�+ +⎡ ⎤= + +⎣ ⎦ ��� 4!

1����� ��� 3� 9�� ��� 	
����� ������������"

1 1 2 1 1 1 2; 1 ( , ) ;�� �� � � �� �ye L e hf x L L

3 2 2 1 1 1 2 31 ( , ) 1 ( , ) ( ) ; etc.y ye hf x hf x L L L� �⎡ ⎤ ⎡ ⎤= + + + +⎣ ⎦ ⎣ ⎦

1��� ���� 
		+� 
�� *�����	�� ���� (������ H GEEI� �	�� 
	��� ��������

�������	
�� 2���	��������������������������������������	� y y′ = − ���������
�	�����	� (0) 1,y = ���������������	�����
��%����-��
���	�����%/�
��� ��@�

6�		���� 0.01,h = ��� ����

1 ( , ) 1 0.01( 1) 0.99.y n nhf x �+ = + − =
���

2
1

1
( ) 0.00005 ( ).

2n n nL h y y� �+ ′′= − = −

*�� ����� ��	
��
� ( ) ( ),n ny y x� ≤ ����� y′ ��� ��������� ;�������� ������������
	
����

5
1

5
2

5
3

| | 0.00005 5 10 ,

| | (0.00005) (0.99) 5 10 ,

| | (0.00005) (0.9801) 5 10 ,

L

L

L

−

−

−

≤ = ×

≤ < ×

≤ < ×

���� �	� 	�� .	�� �	
������� ���� �	���� �	����	�� ���	��� ��� ����� ��� ����
���� 	�
���� �	������� ���	�� *�� ��� �������� ���� �	������� ���	��� ������ ��� ��� ���

1 0,nR + =
����� ������ ���� �
	��� 
	������ ��� 	
����� ��	
� %��� ��� 4!� ���� ����
����

0

5
1

5 4
2 1

5 4 5
3 2

5 4 4 4
4 3

0,

| | 5 10

| | 0.99 5 10 10

| | 0.99 5 10 10 5 10

| | 0.99 5 10 10 10 2 10 0.0002

e

e

e e

e e

e e

−

− −

− − −

− − − −

=

≤ ×

≤ + × <

≤ + × < + ×

≤ + × < + = × =

�
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*�� ����
����������� ����� ��������
���� �	���
� ������������ ����������� ���	�� ��� ���
������ 	�� ��9�9=!� 	
������� ��� %/�
���� ��@�

8.4.2 Modified Euler’s Method

*������� 	�� ����	/�
����� ( , )f x y 
� 0 0( , )f x y ��� %��� ���E!�� ��� �	�
����	/�
���� ���� ��������� ������ ���%��� ���E!� 
��
����� 	�� �����?	����� ����� �	
	
����

1 0 0 0 1 1[ ( , ) ( , )]
2

h
y y f x y f x y= + + ��� <!

2�� ����� 	
����� ���� �������	�� �	�
���

( 1) ( )
0 0 0 11 1[ ( , ) ( , )],

2
n nh

y y f x y f x y+ = + + 0, 1, 2,n = … ��� =!

����� ( )
1
ny ��� �������� ����	/�
���	�� �	��������� �������	�� �	�
���� ��� =!� ���


�� �������� 
�� ��		���� (0)
1y ��	
� %����-�� �	�
���"

(0)
0 0 01 ( , ).y y hf x y= +

�������	 
�� 8����
���� ���� ������ 	�� �� ���� 0.1x = ������ ����

(0) 1y = ��� 2y x y′ = +

2�� ��+� 0.05.h= 2��� 0 0x = ��� 0 1.0,y = ��� ���� 0 0( , ) 1.0.f x y = ;����
%����-�� �	�
���� �����

(0)
1 1 0.05(1) 1.05y = + =

.������� 1 0.05x = ��� (0)
1 1( , ) 1.0525.f x y = ���� �������� 	� 0 0( , )f x y ���

(0)
1 1( , )f x y ��� �94E4� ����������	� (1)

1y ���� ������	���
���	
������
�������
%��� ��� =!� ���� ��� 	
����

(1)
1 1.0513.y =

&���������������	�����������	
���� (2)
1 1.0513.y = ;����������+� 1 1.0513,y =

������ ��� �	������ �	� �	��� ����
��� �������
7�/������� 1 10.05, 1.0513x y= = ��� 0.05,h = ����	�������������	������

�	� 	
����� ���� ������ ���� ������ 	�� ������ 0.1.x = ���� �������� ���

(0)
2 1.1040,y = (1)

2 1.1055,y = (2)
2 1.1055.y =

;����� ��� �	������� ����� ���� ������ 	�� �� ���� 0.1x = ���  � 9@@�

8.5 RUNGE–KUTTA METHODS

#����������
����	�����%����-��
���	�� ��� ��������������� ���������������	
��
�
������ ��� ��������� 
� �	� 
�� �
���� �	�� 	
�������� ����	��
��� ���������� ���



&����'(�����
���	�����������������	���������������������������������	�����
���� ���������� 	�� ���������� 	���� ���� ������	�� ������� ��� �	
�� ��������� �	����
	�� ���� ��
���������

*����� ��
������� 1 0 0 0( , )y y hf x y= + 	�� ���� ������ ����� 	�� %��� ��� <!����
	
����

1 0 0 0 0 0[ ( , )],
2

h
y y f f x h y hf= + + + +

����� 0 0 0( , ).f f x y= *�� ��� �	�� ���

1 0k hf= ��� 2 0 0 1( , )k hf x h y k= + +
����� ���� �
	��� ������	�� 
��	
��

1 0 1 2
1

( ),
2

y y k k= + + ��� @!

������ ��� ���� ������������� ����������
� �	�
���� ���� ���	�� ��� ����� �	�
���
����
�� ��	��� �	�
��	��	�����
�� 
�� �/��������
	��� ������
������	�-�� �������
������ ���� ����� ����� �����

2 3

0 0 0 02 6
� � � �� �� ��� �

h h
y hy y y

���� 	�� ���� ������ ����

2
2 0 0 0 0 0

0 0
( , ) O ( ) .

f f
k hf x h y hf h f h hf h

x y

⎡ ⎤∂ ∂= + + = + + +⎢ ⎥∂ ∂⎣ ⎦
1����

( , )
,

df x y f f
f

dx x y

∂ ∂= +
∂ ∂

��� 	
����
2 2 3

2 0 0 0 0[ O( )] O( ),k h f hf h hf h f h′ ′= + + = + +

�	� ����� ���� ������ ����� 	�� %��� ��� @!� �����

2 3 2 3
0 0 0 0 0 0 0

2
3

0 0 0

1 1
[ O( )] O( )

2 2

O( ).
2

y hf hf h f h y hf h f h

h
y hy y h

′ ′+ + + + = + + +

′ ′′= + + +

*��������	����	��	����������������	����������/�����	���	��
	���������	��%��J��� @!
������ ��� �	� ���
�� 	�� 	����� 
��� ������ 
����� ����� ���� ���	�� ��� ����� �	�
���
��� 	�� 	����� 
��

�	��� ����������� ��� ��� ���

1 0 1 1 2 2y y W k W k= + + ��� E�!
�����

1 0

2 0 0 0 0 1( , )

k hf

k hf x h y kα β

= ⎫⎪
⎬

= + + ⎪⎭
��� E
!
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�������������	����������/�����	���	��
	���������	�����������������	�������� E�!
������ ���� ��������

2
3

0 0 0 0 1 2 0

2 3
2 0 0 0

O( ) ( )
2

O( ).

h f f
y hf f h y W W hf

x y

f f
W h f h

x y
� �

⎛ ⎞∂ ∂+ + + + = + +⎜ ⎟∂ ∂⎝ ⎠

⎛ ⎞∂ ∂+ + +⎜ ⎟∂ ∂⎝ ⎠
%�������� ���� �	����������� 	�� � ���� �!� ���� ���� ������������ 	�� 
	��� ������� ��
	
����� ���� ������	��

1 2 1,W W+ = 2 0
1

,
2

W � = 2 0
1

.
2

W � = ��� F!

6������� 0 0� �= ������ 0� ������������������������
���������������������
������
����
����������
�������
�������������� *���������� �	���/�
����� 0 0 1,� �= =
����� ��� �

��������� 	
���� 1 2 1/2,W W= = ������ ������ �	�
���� ��� @!�

*���	��	����������	������������������������������	���	�����&����'(���� �	�
����
���� ����� �	�
����� ��� E!� ���� ��� F!� �	��������� A���� 	��� 	�� �������� ����
�	�
�����

;������	�����&����'(������	�
������/�����	�����������
����	��	�������
�����
������� ���	��
� �������� 
�

1 0 1 1 2 2 3 3 4 4y y W k W k W k W k= + + + + ��� ��!
�����

1 0 0

2 0 0 0 0 1

3 0 1 0 1 1 1 2

4 0 2 0 2 1 2 2 1 3

( , )

( , )

( , )

( , ),

k hf x y

k hf x h y k

k hf x h y k k

k hf x h y k k k

� �

� � �

� � � �

= ⎫
⎪
⎪= + + ⎪
⎬

= + + + ⎪
⎪
⎪= + + + + ⎭

��� �
!

������ ��������
����������� �	�
�������
�����
���/��������
	���������	�� ���
������ ������	��	�� ��� ��!�
������	�-�� ����������� ��������������
����	�� ���
�
��� �	� ���� ���������� ��	��� �	��������� 

� ���� ��	���� 	�� ���� ����
������ ���
������� ��
������� ���� ��� ����� ������	��� �������� �	�����	����� &����'(����
�	�
������ *��� �	�� �/�
����� ��� ���

0 0 21

1 2

2 11

2 31 4

1 1, 1,,
2 2

1
( 2 1), 0

2

1 11
, 1 ,1 ,

2 22

1 1 1 11
1 , 1 ,,

3 2 3 26
W WW W

� � ��

� �

� ��

⎫= = == ⎪
⎪
⎪

= − = ⎪⎪
⎬
⎪= − = += − ⎪
⎪
⎪⎛ ⎞ ⎛ ⎞= − = += = ⎜ ⎟ ⎜ ⎟ ⎪⎭⎝ ⎠ ⎝ ⎠
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��� 	
����� ���� 
���	�� 	�� :����� �������� ���� ��	���

0 1

1 2 2

1 4

1
,

2

0,

1
,

6
W W

� �

� � �

= =

= = =

= =

0 1

2 1

2 3

1

2

1

2

6
W W

� �

� �

⎫= = ⎪
⎪
⎪= = ⎬
⎪
⎪

= = ⎪
⎭

���49!

������ �	� ���� �	�����	����� &����'(����� �	�
����� ���� 
	��� �	

	���� ����
	��� ��� ��������"

1 0 1 2 3 4
1

( 2 2 )
6

y y k k k k= + + + + ���4 �!

�����

1 0 0

2 0 0 1

3 0 0 2

4 0 0 3

( , )

1 1
,

2 2

1 1
,

2 2

( , )

k hf x y

k hf x h y k

k hf x h y k

k hf x h y k

= ⎫
⎪
⎪⎛ ⎞= + +⎜ ⎟ ⎪⎝ ⎠ ⎪
⎬

⎛ ⎞⎪= + +⎜ ⎟⎪⎝ ⎠⎪
⎪= + + ⎭

���4 
!

��� ������ ���� ���	�� ��� 	�� 	����� 
��� 6	
������ ��������	�� 	�� ���� �	�
���� ��
�/�����������	
�������������������������������������������������	�����
		+�
�
>���� ����)���	���2�� ����������� ����� ���� ���� 	�� ���� �	�����	����� �	�
���� 
�

����� 	�� �/�
�����

�������	 
�
 :���� /dy dx y x= − ����� (0) 2,y = ���� (0.1)y ���� (0.2)y
�	������ �	� �	��� ����
��� �������

��! ����������
� ������������� ���	��
 2��� 0.1,h = ��� ���� 1 0.2k =
��� 2 0.21.k = ;����

1
1

(0.1) 2 (0.41) 2.2050.
2

y y= = + =

�	� �����
��� 2 (0.2),y y= ��� �	��� ���� 0 0.1x = ��� 0 2.2050.y = ;�����

1 0.1(2.105) 0.2105k = = ��� 2 0.1(2.4155 0.2) 0.22155.k = − =
*�� �	��	��� ����

2
1

2.2050 (0.2105 0.22155) 2.4210.
2

y = + + =

$�	�������� ��� �� ��
����� ����� ��� 	
����

3 (0.3) 2.6492y y= = ��� 4 (0.4) 2.8909y y= =
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2����/����		���
 3 9�4 �����	
���� � �9�4!���� ��9�=!���������� 2����
 3 9�4�
��� 3� 9� ��� ��� 3� 4�� ��� 	
���� !�� 3� 9�=� ��� !�� 3� 9�==� ���� ����� ��9�4!� 3
4�=499�� 1�
�������� ��� 	
���� ��9�=!� 3� 4����9�

.�	
� ���� ����������� �	����	�� �� 3� �� C�  � C� ���� ���� �/���� ������� 	�� ��9�4!
������9�=!������������������4�=4 =�����4��G ����	�����������	�����	���	�����
������ 	�� ����� 
���	��� ��� ��
������ ���� ������� ��� �	��	��"

x Computed y Exact y Difference Ratio

0.2 = 0.1: 2.4210h 2.4214 0.0004

= 0.2 : 2.4200h 0.0014
3.5

0.4 = 0.1: 2.8909h 2.8918 0.0009
4.2

= 0.2 : 2.8880h 0.0038

*�� �	��	��� ����� ���� 
���	�� ���� ��� 
��	����� 	�� �	����������
���!� ����������
� �����
������� ���	��
 � �	� �����
���� ��9� !�� ��� ����

��� 3� 9�� ��� 3� 4� ��� 
� 3� 9� ��2�� ����� 	
����

1

2

3

4

0.2,

0.205

0.20525

0.21053.

k

k

k

k

=

=

=

=
;����

1 2 3 4
1

(0.1) 2 ( 2 2 ) 2.2052.
6

y k k k k= + + + + =

$�	�������� ��
�������� ��� 	
���� ��9�4!� 3� 4�=4 =�

�������	 
�� :���� ��B��� 3�  � C� ���� ����� � 3 9 ���� � 3 9� ���� ��9�4!�
��9�=!� ��� ��9�E!�

2�� ��+� 
�3�9�4��2��� ���3����3�9�����	
����� ��	
� ���4 �!� ���� ���4 
!�

1

2

3

4

0.2,

0.2 (1.01) 0.202,

0.2 (1 0.010201) 0.20204,

0.2 (1 0.040820) 0.20816,

k

k

k

k

=

= =

= + =

= + =
���

1 2 3 4
1

(0.2) 0 ( 2 2 ) 0.2027,
6

y k k k k= + + + + =

������ ��� �	������ �	� �	��� ����
��� �������
�	� �	
���� ��9�=!�� ��� ��+� ��� 3� 9�4�� ��� 3� 9�494F� ��� 
� 3� 9�4�� 2���

������ �������� %���� ���4 �!� ���� ���4 
!� ����



2
1

2
2

2
3

2
4

0.2 [1 (0.2027) ] 0.2082,

0.2 [1 (0.3068) ] 0.2188,

0.2 [1 (0.3121) ] 0.2195,

0.2 [1 (0.4222) ] 0.2356,

k

k

k

k

= + =

= + =

= + =

= + =

���

(0.4) 0.2027 0.2201 0.4228,y = + =
�	������ �	� �	��� ����
��� �������

.�������� ��+���� ��� 3� 9�=�� ��� 3� 9�=44�� ��� 
� 3� 9�4�� ���� ��	�������� ��
�
	���� ��� 	
���� ��9�E!� 3� 9�E�= �

�������	
��� 2���	������� ���� �������� ������ ��	
��
� 3 /2y x y′= + ����� ���
�	�����	� ��9!� 3�  �

���� �	��	����� ��
��������� �����������	����9�4!�
������������
���	���� ���
�/���� ������ 
����� � EF44 G<�� *�� ��� ����� ����� ���� �����
�������&����'(����

���	�� ������ ���� ��������� ������ �	� 
� 3� 9�9@�

Method h Computed value

Euler 0.2 1.100 000 00

0.1 1.132 500 00

0.05 1.149 567 58

Modified Euler 0.2 1.100 000 00

0.1 1.150 000 00

0.05 1.162 862 42

Fourth-order Runge–Kutta 0.2 1.167 220 83

0.1 1.167 221 86

0.05 1.167 221 93

8.6 PREDICTOR–CORRECTOR METHODS

*������
���	���������
����	�������	��	�������������������������	��	������������
���������� ���� ��	
 �� 3� ��� �	 �� 3� ������ ��� ��������� ���	�
���	�� 	���� ��� ���

���������	�� ���� ���������� ������� ��3���"�#��������'����������
���	������� ���
	���� ������ �������� ������	�� ������� �� ���� ������ ������D �	�� ���� �	
������	�
	�� ���� ������	�� ������ �� ���� #� ���������� �	�
���� ��� ����� �	� �������� ���
������	���� �� ���� ���� ����������������� �	�
���� �������� �	� �
��	��� ���������
	�� �����

*�� 1����	�� ��E� � ��� ������� $������	�'�	�����	�� �	�
����� ������ ���

��+����� ������������ ���� ��� 1����	�� ��E�4� ��� ������
�� �����-�� 
���	�
������ ����� �	������ ������������
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8.6.1 Adams–Moulton Method

7���	�-�� 
��+����� ����������� ������	����	�� �	�
���� ���� 
�� �������� ��

2 3
0 0 0 0

( 1) ( 1) ( 2)
( , )

2 6

n n n n n
f x y f n f f f

+ + += + ∇ + ∇ + ∇ +� ���44!

�����

0x x
n

h

−
= ��� 0 0 0( , ).f f x y=

*�� ����� �	�
���� ��� ��
��������� ��

1

0

1 0 ( , ) ,
x

x

y y f x y dx= + ∫ ���4<!

��� ���

1

0

2
1 0 0 0 0

1
2

0 0 0 0

0

2 3 4
0 0

( 1)

2

( 1)

2

1 5 3 251
1 .

2 12 8 720

x

x

n n
y y f n f f dx

n n
y h f n f f dn

y h f

+⎡ ⎤= + + ∇ + ∇ +⎢ ⎥⎣ ⎦

+⎡ ⎤= + + ∇ + ∇ +⎢ ⎥⎣ ⎦

⎛ ⎞= + + ∇ + ∇ + ∇ + ∇ +⎜ ⎟⎝ ⎠

∫

∫

�

�

�

*�� ���� 
�� ����� ����� ���� ������ ����� 	�� ���� �
	��� ������	�� �������� 	���� 	�� ���
����� ����� D�� ���� 	�� ������ ���� +�	��� ;����� ����� �	�
���� ���� 
�� ����� �	
�	
����� ���� 2�� ������	��� ������ ��� ��

p 2 3 4
0 01

1 5 3 251
1

2 12 8 720
y y h f

⎛ ⎞= + + ∇ + ∇ + ∇ + ∇ +⎜ ⎟⎝ ⎠
� ���4=!

����� ��� �������$�
	�'%
�
����
� �	�
���� ���� ��� ����� ��� ������������ �	�
���
����� ������������ �� ����������� ����� ��� ��� �� ���������� �����!�

#��	�����	���	�
��������
�����������������
�����
������
��������7���	�-�

��+����� ����������� �	�
���� ��� ��"

2 3
1 1 1 1

( 1) ( 1) ( 2)
( , )

2 6

� � �
� � � � � � � ��

n n n n n
f x y f n f f f ���4@!



1�
���������� %��� ���4@!� ��� %��� ���4<!�� ��� 	
����
1

0

2
1 0 1 1 1

0
2

0 1 1 1

1

2 3 4
0 1

( 1)

2

( 1)

2

1 1 1 19
1

2 12 24 720

x

x

n n
y y f n f f dx

n n
y h f n f f dn

y h f

+⎡ ⎤= + + ∇ + ∇ +⎢ ⎥⎣ ⎦

+⎡ ⎤= + + ∇ + ∇ +⎢ ⎥⎣ ⎦

⎛ ⎞= + − ∇ − ∇ − ∇ − ∇ −⎜ ⎟⎝ ⎠

∫

∫

�

�

� ���4E!

���� ������ ����� 	�� %��� ���4E!� �������� 	� ���� ���� ����� D� ������ �	�� ��� ��
��� p

1 ,y � ��������������������	
���������	
����4=!����������������	����� ����
	
���������	
�%������4E!����������������������������������������������������
���� �	�
��� ��

c p2 3 4
01 1

1 1 1 19
1

2 12 24 720
y y h f

⎛ ⎞= + − ∇ − ∇ − ∇ − ∇ −⎜ ⎟⎝ ⎠
� ���4F!

����� ��� �������$�
	�'&������� ���������� �	�
���� ���� ������������ �� ���������
����� ���� ������ 	
������� ��� ���� �	�������� ������ ���� ���� ������������ �� 	�� ���
������ ���������� ����� ���� ���������� ������ 	�� ��� ��	���� 
�� ����� �	�� �	
������
���� ������ 	� � ����� ��!�

*�� ���������� �	������� ��� ����� 
�� �	��������� �	� ���� �	�
����� ���4=!� ���
���4F!� 
�� ���	����� ���� �������	����� ������������ ���� �/��������� ���� �	����
	����������������� ��� ���
��	�� ������	��������� ������
������������� �����	����
���� �������	����� ������������� �	�
����� ���4=!� ���� ���4F!� ���� 
�� �������� ��

p
0 0 1 2 31 (55 59 37 9 )

24

h
y y f f f f− − −= + − + − ���4�!

���

c p
0 0 1 21 1(9 19 5 )

24

h
y y f f f f− −= + + − + ���4G!

��� ������ ���� ���	��� ���� ����	/�
�����

(4)5
0

251

720
h f ��� (4)5

0
19

720
h f− � �������������

���� �������� �	�
�� 	�� �	�
����� ���4�!� ���� ���4G!� ���� ������ 
�

p
1 2 31 [55 59 37 9 ]

24n n n n nn
h

y y f f f f− − −+ = + − + − ���4��!

���

c p
1 21 1[9 19 5 ]

24n n n nn n
h

y y f f f f− −+ += + + − + ���4G�!

1�����	�
�������/�����������	���������	�
������	������������������������������'
�����������	�
�����
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���� ������ ����� ���� ��� ����� ������ ���� ��������� 	�� ���� ������ ����� 	�
%��� ���4�!� ���� 	
�������
��
����� 	�� ��������	�-�� �������� 	��%����-��
���	��
	��&����'(�����
���	���8����	����������	���������
���	����������������
����

���	���� .	�� ���������� ��	
��
��� &����'(����� �	�����	����� �	�
���
�	������� ����� �	�
����� ���4�!� ���� ���4G!� ����� 
���� �	���� �	� 
�� ���� 
	��
������������	

�����	�� �����	��	������/�
���������������������������������	�
	�� ���� 
���	��

�������	 
��� 2�� �	������� 	���� ������ ���� ������������� ������	�� ������ ��
%/�
���� ��G� ����� ���� ��
�� �	�����	��� ���� ��� ����� �	� �	
����� ��9��!�

.	�� ����� �/�
����� ���� �������� ������� ���� � �9�E!�� � �9�=!� ���� � �9�4!�
������ ���� �������� �	
������ ��� %/�
���� ��G� 
�� ���� �	�����	����
&����'(�����
���	���5����� �	��%��� ���4�!����� ��� 3� 9�E�= �� ���� 3� 9�=44��
���� 3� 9�494F� ���� ���� 3� 9�� ��� 	
����

p 2 2

2

0.2
(0.8) 0.6841 {55 [1 (0.6841) ] 59 [1 (0.4228) ]

24

37 [1 (0.2027) ] 9}

1.0233, on simplification.

� � � � �

� � �

�

y

5����� ����� ���������� ������ 	�� ���� ������ ����� 	�� %��� ���4G!�� ��� 	
����

c 2 2

2 2

0.2
(0.8) 0.6841 {9 [1 (0.0233) ] 19 [1 (0.6841) ]

24

5 [1 (0.4228) ] [1 (0.2027) ]}

1.0296, which is correct to four decimal places

� � � � �

� � � �

�

y

�����
�	�������	������
���	�����������������������������	��� p
1y ����	
�����

��	
� �	�
���� ���4�!�� �	�
���� ���4G!� ���� 
�� ����� ������������ �	� 	
����� ���
������ 	�� ��� �	� ���� ��������� ���������

8.6.2 Milne’s Method

����� 
���	�� ����� 7���	�-�� �	������ ����������� �	�
���� ��� ���� �	�
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− − −= + Δ + Δ + Δ +� ���<9!
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���������� %��� ���<9!� ��� ���� ������	�
4

0

4 0 ( , )
x

x

y y f x y dx= + ∫ ���< !
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4
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2 3
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2

20 8
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4
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3
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y h f n f f dn

y h f f f f

h
y f f f

� �

� �

� � �

−⎡ ⎤= + + + +⎢ ⎥⎣ ⎦

−⎡ ⎤= + + + +⎢ ⎥⎣ ⎦

⎛ ⎞= + + + + +⎜ ⎟⎝ ⎠

= + − +

∫

∫

�

�

�

���<4!

������������������	�����������������	����������������������/��������������������
2

0 0,f f� � ��� 3
0f� ��� ���
�� 	�� ���� ������	�� �������

����� �	�
���� ����
������� �	� ,�������-� ����������	���
������ ��	���	�� ���
���� ��� ���� ��� ���� +�	��� �	� 	
����� �� ,�	�����	�-� �	�
����� ��� ��
�������
7���	�-�� �	�
���� ��	
� ���<9!� ��� ���� ������	�

2

0

2 0 ( , )
x

x

y y f x y dx= + ∫ ���<<!

���� ���

2
2

2 0 0 0 0

0

2
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2

1
2 2

3

( 4 )
3

n n
y y h f n f f dn

y h f f f

h
y f f f

� �

� �

−⎡ ⎤= + + + +⎢ ⎥⎣ ⎦

⎛ ⎞= + + + +⎜ ⎟⎝ ⎠

= + + +

∫ �

�

���<=!

���� ������ 	�� �
� 	
������� ��	
� %��� ���<4!� ���� ������	��� 
�� ����+��� 
�
����� %��� ���<=!�

���� �������� �	�
� 	�� %���� ���<4!� ���� ���<=!� ���"

p
3 2 11

4
(2 2 )

3n n n nn
h

y y f f f− − −+ = + − + ���<4�!

���

c
1 1 1 1( 4 )

3n n n n n
h

y y f f f+ − − += + + + ���<=�!
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���� ���������	�� 	�� �����
���	�� ��� ������������ 
�� ���� �	��	����� �/�
����

�������	 
��
 2�� �	������� ������ ���� ������������� ������	�� ���������� ��
%/�
�������G������� 9����?��� �	��	��� ���3� �C���������� �9!�3�9������������
�	� �	
����� � �9��!� ���� � � �9!�

2���� 
� 3� 9�4�� ���� ������� 	�� � �9�4!�� � �9�=!� ���� � �9�E!� ���� �	
������ ��
%/�
���� ��G� ���� ������ ������� ���� ������ ��� ���� ��
��� 
��	�"

x y ′ = + 21y y

0 0 1.0

0.2 0.2027 1.0411

0.4 0.4228 1.1787

0.6 0.6841 1.4681

�	� 	
����� � �9��!�� ��� ���� %��� ���<4!� ���� 	
����

0.8
(0.8) 0 [2(1.0411) 1.1787 2(1.4681)] 1.0239

3
y = + − + =

����� �����

(0.8) 2.0480.y′ =

�	� �	������ ����� ������ 	�� � �9��!�� ��� ���� �	�
���� ���<=!� ���� 	
����

0.2
(0.8) 0.4228 [1.1787 4(1.4681) 2.0480] 1.0294.

3
y = + + + =

$�	�������� ��
�����������	
���� (1.0) 1.5549.y = ���� ��������� ��� ���� ������
	����9��!������ � �9!������	���	������
���
��	����
��������������������	�
���
���<=!�

�������	 
��� �����������������������	� 2 2 2y x y′= + − ���������������	��	����
����"

x y

–0.1 1.0900

0 1.0000

0.1 0.8900

0.2 0.7605

5��������-�� 
���	�� �	� 	
����� ���� ������ 	�� � �9�<!�
2�� ������ �	�
� ���� �	��	����� ��
��"

x y ′ = + −2 2 2y x y

– 0.1 1.0900 – 0.80190

0 1.0 –1.0

0.1 0.8900 –1.19790
0.2 0.7605 –1.38164



5����� %��� ���<4!�� ��� 	
����

4(0.1)
(0.3) 1.09 [2( 1) ( 1.19790) 2( 1.38164)] 0.614616.

3
y = + − − − + − =

*�� 	����� �	� ������ %��� ���<=!�� ��� ����� �	� �	
���� (0.3).y′ 2�� ����

2 2(0.3) (0.3) (0.614616) 2 1.532247.y′ = + − = −

7	��� %��� ���<=!� ������ ���� �	�������� ������ 	�� � �9�<!"

0.1
(0.3) 0.89 [ 1.197900 4( 1.38164) ( 1.532247)] 0.614776.

3
y = + − + − + − =

8.7 CUBIC SPLINE METHOD
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���� ���������� ��� ������� ��
1����	�� @�4�� ������ ���� ��
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���� 	
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1 2 2
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1 3 3
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,
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i i i i
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x x x x x x x x
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y y

h h

− −
−

− −
−

− − − −
= −

− − + − − +
+ + ���<@!
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� � � �

1
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1
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h

−
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−
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−
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1
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1
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2 4 6
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2 4 6
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−
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−
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( , )
dy

f x y
dx
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0 0( )y x y= ���<G
!
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����
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2
,

d y f f dy
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∂ ∂

	�

( ) ( , ) ( , ) ( , )

( , ) ( , ) ( , ).
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�������	 
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��
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�

1
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2
y x y′ = + (0) 1,y = ��!

��	��� �/���� �	����	�� ��� ������ 
�

/213 6 12xy e x= − − ���!

2�� ��+��� �	�� ��
�������� 2,n= ���� 
 3 9�@ ���� �	
����� ���� ������ 	�� (0.5).y
;��� ( , ) 3 /2f x y x y= + ���� ������	��� ��� ����� ��� 3� < ��� ��� 3�  B4� #��	�

1
( , ) 3 .

2i i i if x s x s= +



;������ %��� ���= !� �����

0 1 1 0 1
1 3 1

4 8 24( ) 3
2 2 2

m m s s s
⎛ ⎞+ − − = + +⎜ ⎟⎝ ⎠

���

1 2 2 1 2
1 1

4 8 24( ) 3 3
2 2

m m s s s
⎛ ⎞+ − − = + +⎜ ⎟⎝ ⎠

1���� 0 1 11/2, 3/2 /2m m s= = + ��� 2 23 /2,m s= + ���� �
	��� ������	��� ����

	����
���������	�

1 1.691358s = ��� 2 3.430879.s =

�������	�������������	����	�������������
��9�999GF4�����9�994=GF���������������
*�� ���� 
�� ��	��� ������ ������ �������� �	�����	���� ���� ������� 
���	�� �����
0�

!� �	���������� ���� �	
������ ����� ����� ���� 
���������������-�� 
���	��
.	�� ��������� ���� ������� ��� ��������� �	� $������	� H GF�I�

8.8 SIMULTANEOUS AND HIGHER-ORDER EQUATIONS

2�� �	������� ���� ��	� ������	��

( , , )
dx

f t x y
dt

= ��� ( , , )
dy

t x y
dt

�= ���=4!

������������������	�����	�� � 3 �� ��� � 3 �������� � 3 ��� #���
��������� tΔ 3 
�
,x kΔ = ��� ,y lΔ = ���� �	�����	����� &����'(����� 
���	�� �����

1 0 0 0

1 0 0 0

2 0 0 1 0 1

2 0 0 1 0 1

3 0 0 2 0 2

3 0 0 2 0 2

4 0 0 3 0 3

4 0

( , , );

( , , );

1 1 1
, , ;

2 2 2

1 1 1
, , ;

2 2 2

1 1 1
, , ;

2 2 2

1 1 1
, , ;

2 2 2

( , , );

(

k hf t x y

l h t x y

k hf t h x k y l

l h t h x k y l

k hf t h x k y l

l h t h x k y l

k hf t h x k y l

l h t

=

=

⎛ ⎞= + + +⎜ ⎟⎝ ⎠
⎛ ⎞= + + +⎜ ⎟⎝ ⎠
⎛ ⎞= + + +⎜ ⎟⎝ ⎠
⎛ ⎞= + + +⎜ ⎟⎝ ⎠

= + + +

=

φ

φ

φ

φ 0 3 0 3

1 0 1 2 3 4

1 0 1 2 3 4

, , );

1
( 2 2 )

6
1

( 2 2 ).
6

h x k y l

x x k k k k

y y l l l l

⎫
⎪
⎪
⎪
⎪
⎪
⎪
⎪
⎪
⎪
⎪
⎪
⎪⎪⎬
⎪
⎪
⎪
⎪
⎪
⎪+ + + ⎪
⎪

= + + + + ⎪
⎪
⎪= + + + + ⎪⎪⎭

���=<!
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*������
�����
�������	��������/�������������	���������
���	��	��$�����-�

���	�� �	� ���� �����
� ���=4!�� ���� �/�����	�� 	�� ����&����'(�����
���	�� �	
�� �����
� 	�� �� ������	��� ��� ������ ���������	������

2�� �	�� �	������� ���� ���	���	����� ������������� ������	�

( , , )y F x y y′′ ′= ���==�!

����� ���� ���������	�����	��

0 0( )y x y= ��� 0 0( ) .y x y′ ′= ���=@�!

)�� ������� ,z y′= ���� ��	
��
� ������ ��� %���� ���==�!� ���� ���=@�!� ���� 
�
�������� �	� ���� ��	
��
� 	�� �	������ ���� �����


y z′ = ��� ( , , )z F x y z′ = ���==
!

����� ���� �	�����	��

0 0( )y x y= ��� 0 0( )z x y′= ���=@
!

������ ����
�� �	�����
�� ����
���	��������
��� �
	��� 1�
�������� �����������
	������������������������	��������������������	�����	�������������������������
���� 
�� �������� �	� �� �����
� 	�� ������	����� ������������� ������	���

8.9 SOME GENERAL REMARKS

*�� ���� ���������� �����	���� ��� ����� ������ �� 
����� ��������	�� 	�� �	
�� �����
+�	���
���	����	��������
��������	����	��	�����	���������������������������	�
����������� �������� ������ �������� �	�����	��� *�� ���� �	����	�� ��� ��������� 	���� �
������ ������� ��� ��� �
�	������ �	� ���� ���� ��������� ������� ��� ����������� ��
�	���
��� 
�� 	��� 	�� ���� 
���	��� ������
���

*�� ��� 	������� ���� ��	��� 	�� ����� 
		+� �	� �������� �� �	
����������� ������
	�� ��������������
���	���������
��� ��� ����� ��/�� �	�� ������
������� �	����	��	�
������������� ������	���� 
��� ���� �	��	����� �	����� ���� ��������� �	� ���� 
���	��
����������

���� ����	�-�� ������� 
���	�� �������� ��	
� ���� ����	��� ������������� ����
���� ���� ������� ������������ 	�� � ���� �!� H���� %���� ��� !I� 
���� �/���� ���� ����� 

��	���� 
�� �
���� ����� ����� ����������� ���
�� 	�� ���� ������� ��
������ �����
���������>�+��������������
	�������%�����
���	�������������	��
���	����
���	
�
���� ����� 	��� 	�� ��	� ���������	��� 	�� ���� �������	�� �	�
���� ��� =!������ ����
���� ������ ������� �	�� ����� ������ 	�� 
�� ���� $������ 
���	�� ���� ��	
�
��� ������
����������������
�������	������������������������	�
����������������������������	���

#���	���� ��
	��	���� ���� &����'(����� 
���	�� ��� ���� 
	��� ������� ����
	�����������������������
��������������������������������������������
�����������
�	
������	�� 	�� ������� ������������ ��� �	
����������2���� ���� ��������� ������
�����
�����	����������	
������	����	�����������	�������������������
���	�������

�� 
����� 	�� ���� �������	�'�	�����	�� 
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���	�� ���� ��� ���� ��
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�� �
��	
��� 	���� ���� �������?�� ���� 
�� �������� ������� �	
������	��� ����� �����
���������	�����	����������0�

!��	���������������
���	���������	�
���/������
�	� �����
�� 	�� 	�������� ������������� ������	���

8.10 BOUNDARY-VALUE PROBLEMS

1	
�� ��
���� �/�
����� 	�� ��	��	���� ������� 
	������������� ��	
��
�� ���"

��! ( ) ( ) ( ) ( ) ( ) ( )y x f x y x g x y x r x′′ ′+ + = ���=E!

����� ���� 
	������� �	�����	��

0( )y x a= ��� ( )ny x b= ���=F!

�
! iv ( ) ( ) ( ) ( )� �y x p x y x q x ���=�!
����

0 0( ) ( )y x y x A′= = ��� ( ) ( ) .n ny x y x B′= = ���=G!

$�	
��
��	������������
!�����������	���������	�����	������������������������	��
����
�������	���������������	��
����������������� �������/����
����
���	�� 	�
�	���������	���	�����
	���������������	
��
��	���������!� 0������������ ������
�����������
���	�� ��� ���	������	������������
��������
��� ���1����	���� 9� �
.�������� ��� 1����	��� �� 9�4� ���� �� 9�<� ��� �������� 
���	��� 
����� 	�� ���
���������	�� 	�� ��
��� �������� ���� ��������� ����������

8.10.1 Finite-difference Method

���� ������������������
���	�� �	�� ���� �	����	��	���� ��	��	����
	������������
��	
��
� �	������� ��� ���������� ���� ������������ 	��������� ��� ���� ������������
������	�� ����� ��� ���� 
	������� �	�����	��� �������!� 
��
����� 	�� ������ �������
����������� ����	/�
���	��� ���� ����� �	������ ���� ���������� ������� �����
� 	�
������	��� 
�� �� ��������� ��	�������

�	�	
�������������	�����������������������������	/�
���	����	�����������������
��� ��	����� ��� �	��	���

%/������� ( )y x h+ ��� ����	�-�� �������� ��� ����

2 3

( ) ( ) ( ) ( ) ( )
2 6

h h
y x h y x hy x y x y x′ ′′ ′′′+ = + + + +� ���@9!

��	
� ������ ��� 	
����

( ) ( )
( ) ( )

2

y x h y x h
y x y x

h

+ −′ ′′= − −�

����� ��� ����

( ) ( )
( ) O( )

y x h y x
y x h

h

+ −′ = + ���@ !

1��������� 9" )	�������K�����$�	
��
� 325



326 6	
������" 7�
�������1	����	��	��0��������8������������%�����	��

��������������	���������������������	/�
���	���	� ( ).y x′ 1�
���������/�����	�
	� ( )y x h− ��� ����	�-�� ������� �����

2 3

( ) ( ) ( ) ( ) ( )
2 6

h h
y x h y x hy x y x y x′ ′′ ′′′− = − + − +� ���@4!

��	
� ������ ��� 	
����

( ) ( )
( ) O( )

y x y x h
y x h

h

− −′ = + ���@<!

������ ��� ���� 
��+����� ����������� ����	/�
���	�� �	� ( ).y x′
#������������������������	/�
���	���	� ( )y x′ ����
��	
�������
����
��������

%��� ���@4!� ��	
� %��� ���@9!�� 2�� ����� ����

2( ) ( )
( ) O( ).

2

y x h y x h
y x h

h

+ − −′ = + ���@=!

*�� ��� ������ ����� %��� ���@=!� ��� �� 
������ ����	/�
���	�� �	 ( )y x′ ����� ������
%��J���@ !� 	�� %��� ���@<!� #������ ������� %���� ���@9!� ���� ���@4!�� ��� ���� ��
����	/�
���	�� �	� ( )y x′′

2
2

( ) 2 ( ) ( )
( ) O( ).

y x h y x y x h
y x h

h

− − + +′′ = + ���@@!

*������
�����
������� ��� ����	���
��� �	�������� ����������������������	/�
���	��
�	� ������� ������������

�	��	��������
	���������������	
��
���������
��%�������=E!��������=F!�
��� ������� ���� ������ H���� ��I� ���	� �� ������ ��
���������� 	�� ������ 
� �	� ����

0 ,ix x ih= + 1, 2, , .i n= …
���� �	�����	������ ������� 	�� �� ��� ������ �	����� ���� ���	���� 
�

0( ) ( ),i iy x y y x ih= = + 0,1, 2, , .i n= …
.�	
� %���� ���@=!� ���� ���@@!�� ������� 	� ( )y x′ ��� ( )y x′′ ��� ���� �	��� ix x=
���� �	�� 
�� �������� ��

21 1 O( )
2

i i
i

y y
y h

h
+ −−′ = +

���

21 1
2

2
O( ).i i i

i
y y y

y h
h

− +− +′′= +

1���������� ���� ������������� ������	�� ��� ���� �	��� ,ix x= ��� ���

i i i i i iy f y g y r′′ ′+ + =

1�
���������� ���� �/������	��� �	� iy′ ��� ,iy′′ ����� �����

1 1 1 1
2

2
,

2
i i i i i

i i i i
y y y y y

f g y r
hh

− + + −− + −
+ + = 1, 2, , 1,i n= … −

����� ( ), ( ),i i i iy y x g g x= = ����



������������ ���	���� 
��
�� ���� ��
������������� 	
����

2 2
1 11 ( 2 ) 1 ,

2 2i i i i i i i
h h

f y g h y f y r h− +
⎛ ⎞ ⎛ ⎞− + − + + + =⎜ ⎟ ⎜ ⎟⎝ ⎠ ⎝ ⎠ ���@E!

� � � � � � � � � � � � � � � � � � � � � � � � 1, 2, , 1i n= … −
����

��� 3� 
 ��� ��� 3� � ���@F!
%�����	�� ���@E!� ����� ���� �	�����	��� ���@F!� �	
������ �� �������	���� �����

������ ���� 
�� �	����� 
�� ����
���	�� 	�������� ���1����	�� F�@�G� 	��6������� F�
���� �	����	�� 	�� ����� �������	���� �����
� �	���������� ��� ����	/�
���� �	����	�
	�� ���� 
	������� ������ ��	
��
� �������� 
�� %���� ���=E!� ���� ���=F!�

�	� ����
���� ���� ���	�� ��� ���� ��
������� �	����	��� ��� ������� ���� ���
�
�����
����������� ,τ 
�

1 1 1 1
2

2
.

2
i i i i i

i i i
y y y y y

y f y
hh

�
− + + −− + −⎛ ⎞ ⎛ ⎞′′ ′= − + −⎜ ⎟⎜ ⎟ ⎝ ⎠⎝ ⎠

%/������� 1iy − ��� 1iy + 
������	�-�� �������������
���������� �����
	��������

2
iv 4( 2 ) O( ).

12 i ii
h

y f y h� ′′′= + + ���@�!

������ ���� ����������������������	/�
���	����������
��%��� ���@E!����� ���	���
	����� ��������� �	�� ������	�������� �	�����	��� �	����� ������������ 	�� H���� ��I�
.�������� ��� �	��	��� ���� 0τ → �� 0,h → �
������� ����� �������� ��������� ��
���� ������� ����
�����������
���������� �
������������	��
�� *�� ������� ������	�
�	������ 
	��� �	
������	���� ���	��� �	���� 
�� ��������� ������ ���� ��

��� 	�
������	��� 
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�� �������

#�� ����������� �	� �
��	��� ��������� ��� �	� �
��	�����

�����-����������

����
�
� ��� �
�� ��	���� ����
���� ����� ���� 0�
�!� ���	�� ��� ��	�	���	���� �	� 
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����� 
����� ����� ���� ���	�� ���� ���� �	�


2 4( ) ( ) O( )i i iy x y h e x h− = + ���@G!

.	�� �/����	����	�� �	� ���� ��
���� ��� �	���� %��� ���@E!� ������� ����� ���
�������� �������� 
� ���� 
B4� �������������� >��� ���� �	�����	������ �	����	��� 	�
%��� ���@E!� 
�� ���	���� 
�� ���
!� ���� ���
B4!�� .	�� �� �	���� ��� �	

	�� �	� 
	���
��� ������	��� ����

2 4( ) ( ) ( ) O( )i i iy x y h h e x h− = + ���E9�!

���
2

4( ) ( ) O( )
2 4i i i
h h

y x y e x h
⎛ ⎞− = +⎜ ⎟⎝ ⎠

���E9
!

��	
� ������ ��� 	
����

4 ( /2) ( )
( ) .

3
i i

i
y h y h

y x
−= ���E !
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	������������� ��	
��
� ��� �������� 
�

1 0,y y′′ + + = 0 1x≤ ≤
�����

(0) 0y = ��� (1) 0.y =

2��� 0.5,h = ��������������������������
���	���	������
��������������	� ��9�@!�
����� �/�
���� ���� �	��������� 
�� )��+���� H GE�I�� *��� �/���� �	����	�� ��
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�

1 cos1
( ) cos sin 1,

sin1
y x x x

−= + −

��	
� ������� ��� 	
����

(0.5) 0.139493927.y =

;��� 1.nh = ���� ������������� ������	�� ��� ����	/�
����� ��

1 1
2

2
1 0i i i

i
y y y

y
h

− +− +
+ + =

���� ����� ������ ������ ��
���������	�
2 2

1 1(2 ) ,i i iy h y y h− +− − + = − 1, 2, , 1i n= … −
������ �	������� ����� ���� 
	������� �	�����	�� 0 0y = ��� 0,ny = �	
������
�� �����
� 	� ( 1)n + ������	��� �	�� ��� ( 1)n + ��+�	��� 0 1, , , .ny y y…

6�		���� 1/2h = ����� 2),n = ���� �
	��� �����
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��	
��

0 1 2
1 1

2 .
4 4

y y y
⎛ ⎞− − + = −⎜ ⎟⎝ ⎠

2��� 0 2 0,y y= = ����� �����

1
1

(0.5) 0.142857142
7

y y= = = …
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�����	������� �����/���� �	����	���������
	��� ��	��� ����� �������	�� ��� ���
�	
������ �	����	�� ��� 9�99<<E�

0������	����������� ��������		���
 3  B=�������� 3 =!�����	
����� ���� �����
������	��"

0 1 2

1 2 3

2 3 4

31 1

16 16

31 1

16 16

31 1
,

16 16

y y y

y y y

y y y

− + = −

− + = −

− + = −



����� 0 4 0.y y= = 1	������ ���� �����
� ��� 	
����

2
63

(0.5) 0.140311804,
449

y y= = =

���� ���	�� ��� ������ ��� 9�999�4� 1����� ���� ����	� 	�� ���� ��	� ���	��� ��� �
	��� =�
��� �	��	��� ����� ���� 	����� 	�� �	���������� ��� 
��

������ �������� ��	�� ����� ���� ��������� 	
������� 
�� ���� �����������������

���	�� �������� ��	�� ���� ������ 	�� ���� ��
��������� ��	���� ���� ���	� 	�� ���
	�����	�� ��������	/�
���	����#��
� ��� ��������� ������������� ����������
��� ���
��

��� 	�� ������	��� �	� 
�� �	����� ���	� ����������

�������	 
��� 1	���� ���� 
	������������� ��	
��

2

2
0

d y
y

dx
− =

����
(0) 0y = ��� (2) 3.62686.y =

���� �/���� �	����	�� 	�� ����� ��	
��
� �� sinh .y x= ���� �����������������
����	/�
���	�� ��� ������ 
�

1 12

1
( 2 ) .i i i iy y y y

h
− +− + = ��!

2����
��������������������H9� 4I� ���	��	����������������	������
 3 9�@��>��� ���
������� 	�� �� ��� ���� ����� �	����� 
� 0 1 2 3, , ,y y y y ���� �
��2�� ���� ������ ����

0 0y = ��� 4 3.62686.y =
2������� ���� ����������� ������	��� ��� ���� ������ ��������� �	����� ������� ���� ���
��+�	���!�� ��� 	
����

0 1 2 1

1 2 3 2

2 3 4 3

4( 2 )

4( 2 )

4( 2 ) ,

y y y y

y y y y

y y y y

− + = ⎫
⎪⎪− + = ⎬
⎪

− + = ⎪⎭
���!

������������� 1�
���������� �	�� ��� ���� �
� ���� ������������� ��� ���� ���� �����


1 2

1 2 3

2 3

9 4 0

4 9 4 0

4 9 14.50744.

y y

y y y

y y

− + = ⎫
⎪⎪− + = ⎬
⎪

− = − ⎪⎭
����!

���� �	����	�� 	�� ����!� ��� ������ ��� ���� ��
��� 
��	��

Computed value Exact value
x of y y = sinh x Error

0.5 0.52635 0.52110 0.00525

1.0 1.18428 1.17520 0.00908

1.5 2.13829 2.12928 0.00901
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*�� ��� �	���
��� �	� 	
����� �� 
������ ����	/�
���	�� �	�� ���� ������ 	�� �� �9!� 
�
�/����	����	�� �	� ���� ��
���� .	�� ����� ��� ������� ���� ��������� H9� 4I� ���	� ��	
��
���������� ����� 
 3  �9�� ���� ����������� ������	�� ��� ���� ������� ��+�	��
�	���� ��� ��� ������ 
�

0 1 2 12y y y y− + =
5����� ���� ������� 	�� ��� ���� ���� ��� 	
����

1 1.20895.y =
;����� %��� ���E !� �����

4(1.18428) 1.20895
(1.0) 1.17606,

3
y

−= =

������ ��� �� 
������ ����	/�
���	�� ������ ���� ���	�� ��� �	�� �������� �	� 9�999�E�

8.10.2 Cubic Spline Method

2�� �	������� ������ ���� 
	������������� ��	
��
� �������� 
�� %���� ���=E!� ���
���=F!�� >��� ���!� 
�� ���� ��
��� ������� ����	/�
������ ���� ������	�� ���!� ���� ���

( ) .i is x M′′ = � ������ �� ix x= ���� ������������� ������	�� ������ ��� %��� ���=E!
�����

( )i i i i i iM f s x g y r′+ + = ���E4!

)��

1 1
1

( ) (2 ) ( )
3!i i i i i
h

s x M M y y
h− −′ − = + + − ���E<!

���

1 1
1

( ) (2 ) ( )
3!i i i i i
h

s x M M y y
h+ +′ + = − + + − ���E=!

1�
����������%�������E<!��������E=!�������������� ���%������E4!�����	
����� ���
������	��

1 1
1

(2 ) ( )
6i i i i i i i i i
h

M f M M y y g y r
h− −

⎡ ⎤+ + + − + =⎢ ⎥⎣ ⎦ ���E@!

���

1 1
1

(2 ) ( ) .
6i i i i i i i i i
h

M f M M y y g y r
h+ +

⎡ ⎤+ − + + − + =⎢ ⎥⎣ ⎦ ���EE!

1���� 0y ��� ny ���� +�	���� %���� ���E@!� ���� ���EE!� �	��������� �� �����
� 	�
4�� ������	��� ��� 4�� ��+�	����� ��?�� 0 1 1 2 1, , , , , , , .n nM M M y y y −… … *�� ���
�	��������	���
��� �	����
������ ����&�� ����	
������� �������	���� �����
� �	����
������#�
����������;	�+����H GEGI!�������	��	������/�
�����������������������
	�� ���� ������� 
���	��

�������	
��� 2���������	�������������	
��
��������������%/�
������ @����?��
1 0,y y′′ + + = (0) (1) 0y y= = ��!



*�������������������������H9�  I� ���	���	���������
����������� �������	
�%��J��!
���� ���� ����������� ������	��� �	�� &��� ��� 	
����

3
(0.5) 0.13636,

22
y = = ���!

���

0 1,M = − 1
25

,
22

M = − 2 1M = −

;�������� 	
����

47
(0) ,

88
s′ = 47

(1) ,
88

s′ = − (0.5) 0.s′ =

.�	
� ���� ����������� �	����	�� 	�� ���� ��	
��
� ��!�� ��� 	
������ ����
��9�@!J3 9� <G=G� ���� ������ ���� ��
��� ������� �	����	�� 	�� ���� 
	������������
��	
��
� ���� ��� ���	�� 	�� 4�4=L� ����� )��+���� H GE�I!�

�������	 
��
 :����� ���� 
	������������� ��	
��

2 0;x y xy y′′ ′+ − = (1) 1,y = (2) 0.5y =

������ ���� ��
��� ������� 
���	�� �	� �����
���� ���� ������ 	�� �� �@!�

���� ������ ������������� ������	�� ��

2

1 1
.y y y

x x
′′ ′= − + ��!

1������ ix x= ��� ( ) ,i iy x M′′ = %��� ��!� 
��	
��

2

1 1
.i i i

i i

M y y
x x

′= − + ���!

5����� ���� �/������	��� ������ ��� %���� ���E<!� ���� ���E=!�� ��� 	
����

� � 1
1 2

1 1
,

3 6
i i

i i i i
i i

y yh h
M M M y

x h x
+

+
−⎛ ⎞= − − − + +⎜ ⎟⎝ ⎠

0, 1, 2, , 1.i n= … − ����!

���

1
1 2

1 1
,

3 6
i i

i i i i
i i

y yh h
M M M y

x h x
−

−
−⎛ ⎞= − + + +⎜ ⎟⎝ ⎠

1, 2, , .i n= … ���!

*�� ��� ������� H � 4I� ���	� ��	� ��
����������� ��� ����� 
 3  B4� ���� � 3 4� ����
%���� ����!� ���� ���!� ����

0 1 1

1 2 1

0 1 1

1 2 1

10 24 36

16 32 12

20 16 24

26 24 9

M M y

M M y

M M y

M M y

− + =

− − = −

+ + =

+ − = −
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%��
��������&���&�� ����&�� ��	
� ������ �����
� 	�� ������	�� ��� 	
����

1 0.65599.y =

1����� ���� �/���� ������ 	� 1 (1.5) 2/3,y y= = ���� ���	�� ��� ���� �	
������ �����
	�� ��� ��� 9�9 �� ������ ��� �
	���  �@L� �
������

�������	 
��� 6	������� �� 
	������������� ��	
��
� ��������� ���� 
	������
�	�����	��� ���	���� �����������

2

2

d y
y

dx
= ��!

����

(0) 0y′ = ��� (1) 1y = ���!

���� ����������� �	����	�� 	�� ����� ��	
��
� ��� ������ 
�

cosh

cosh 1

x
y = ����!

*�� 	����� �	� �	
����� ���� ������������������ ���� �������
���	������� �	���� ����
��	
��
� 
�� 
	��� ���� 
���	���� .	�� ���� ������������������ �	����	��� ��� �����

1 1
2

2i i i
i

y y y
y

h
− +− + = ���!

2�� ������� ���� ��������� H9�  I� ���	� ��	� ������ ������ ����� ����� 
 3  B4� 1������
� 3 9� ���� � 3  �� %��� ���!� �����

1 0 1 0
1

2
4

y y y y− − + = ��!

���

0 1 2 1
1

2
4

y y y y− + = ���!

.�	
� �	�
���� ���@=!�� ��� ����

1 1
0 2

y y
y

h
−−′ = 	� 1 1 02y y hy− ′− = ����!

5���������
	��������	�����	�� 0 0y′ = ��� 2 1,y = %������!�����!���������! �����

1
36

0.9376.
49

y = =

�����/����������	����9�@!� ���9�F< 9��	� ����� ���� �������������������	����	�����
��� ���	�� 	�� 9�49EE�

.	�� ���� ������� �	����	��� ��� ����

1 1 1 12

6
4 ( 2 )i i i i i iy y y y y y

h
− + − ++ + = − + �����!



2���� 
 3  B4�� ��� 	
����

0 1 2 0 1 24 24 ( 2 )y y y y y y+ + = − +

1���� 2 1,y = ���� �
	��� ������	�� 
��	
��

0 1 0 14 24 ( 2 ) 23y y y y+ = − +
	���������������

1 052 23 23y y= + ��/!

.	�� ���� ����������� 
	������� �	�����	��� ��� ���� %��� ���E=!� ���� 	
����

0 0 1 1 0
1 1

0 2( )
6 12

y M M y y′ = = − − + −

1���� 0 0M y= ��� 1 1,M y= ���� �
	��� ������	�� �����

0 1 1 02 24 ( )y y y y+ = − �/!

%�����	��� ��/!� ���� �/!� �����

1
598

(0.5) 0.7266.
823

y y= = =

������������	�����������
�����������	����	�����9�99==��������/�
������
	��������
���� ������	�����	�� ���� ��
��� �������
���	��	���� ���� ������������������
���	�
����� ���� 
	������� ������ ��	
��
� �	������� ����������� 
	������� �	�����	���

8.10.3 Galerkin’s Method

�����
���	��� ���	� ������� ����'���
���� ������
��
���	��� ����� ���
�� ���������
�	�� ����	/�
������ ������	��!� ������ �������� ���� 
	������� �	�����	��� 	�� ���
��	
��
�� ���� ������ ������	�� ��� ��
��������� ��� ���� ������ ������������� ������	�
���� ���� ������� ��� ������� ���� ������
��� ���� ��������� 	�� ���� ��	����� 	�� ����
������������������������ ������	��� ��+���	���� �����	
����� ��� ��������� �	�?��	
������ ������� �� �����
�	�� ������	��� �	�� ���� ��+�	�������
������ ��� ���� �����
������	���

>��� ���� 
	������� ������ ��	
��
� 
�� �������� 
�

( ) ( ) ( )� � � � ��� �y p x y q x y f x a x b ���EF!

����� ���� 
	������� �	�����	��

0 0 0

1 1 1

( ) ( )

( ) ( )

p y a q y a r

p y b q y b r

′+ = ⎫
⎬′+ = ⎭

���E�!

>��� ���� ����	/�
���� �	����	�� 
�� ������ 
�

1

( ) ( ),� �

�

��
n

i i
i

t x x ���EG!
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����������!� ������������
��� ���������"�1�
���������� �	�� ���!� ���%��� ���EF!����
	
����� �� ���������� 8��	����� ����� ��������� 
�����!�

��� 	
����
( ) ( ) ( ) ( )R t t p x t q x t f x′′ ′= + + − ���F9!

5�����������
����������	�������!�������	��������������������	����2���������	���
����

( ) ( ) 0,
b

i

a

I x R t dx�= =∫ ���F !

������ ������� �� �����
� 	�� ������	��� �	�� ���� ����
������ ���J2���� ��� ���
+�	���� ���!� ���� 
�� ����������� ��	
� %��� ���EG!�

�������	 
�
� 1	���� ���� 
	������� ������ ��	
��
� �������� 
�

0, 0 1y y x x′′ + + = < <
����� ���� �	�����	��

��9!� 3� �� !� 3� 9�
>��

���!� 3� ������!

1����� 
	��� ���� 
	������� �	�����	��� 
���� 
�� ���������� 
�� ���!�� ��� ��		��

����!� 3� �� � '� �!�

1�
���������� �	�� ���!� ��� ���� ������ ������������� ������	��� ��� 	
����

���!� 3� ��� C� �� C� ��
;�������� ����

1

1

0

( ) (1 ) 0�� � � � ����I t t x x x dx

�
1

0

( ) (1 ) 0� � � ���� t t x x x dx ��!

7	��

� � � � � � � [ ]
1 1

1
0

0 0

(1 ) (1 ) (1 2 ) ,t x x dx t x x t x dx′′ ′ ′− = − − −∫ ∫
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 	�� ������������ 
�� ������

� � � � � � � � � � � � � � � � � � � � �
1

0

(1 2 ) ,� � ��� t x dx � ������ ���� ������ ���
� ���������

� � � � �
1

1
0

0

(1 2 ) (–2)
� �
� �� � � �
� �
� �

�t x t dx

� � � � � � � � � � � � � � � � � �

1

0

2 ,t dx= − ∫ ������ �� 3� 9� ��� �� 3� 9� ���� �� 3�  �



;����� ��!� ��
�������� �	

1
1 1 2

0 0
0

2 (1 ) (1 ) 0� � � � � �� � �t dx tx x dx x x dx

�
11 3 41 2 2

1 1
0

0 0

2 (1 ) (1 ) 0
3 4

� �

� �
� � � � � � �� �

� �� 	
� �

x x
x x dx x x dx

� 1
5

18
� � � 3� 9�4FF��� ��� ��
���������	��

����� �� ������ ����	/�
���	�� �	� ���� �	����	�� ��

5
(0.5) (0.5)(0.5) 0.06944.

18
y = =

���� �/���� �	����	�� �	� ���� ������ 
	������� ������ ��	
��
� ��

sin
( ) ,

sin1

x
y x x= −

������ 
����� ����� 	��� �	����	�� ���� ��� ���	�� 	�� 9�999<�
���� �
	��� ����	/�
���	�� ���� 
�� �
��	���� 
�� ����
���� ����

���!� 3� ���� � '� �!� C� ��� �
�� � '� �!�

$�	�������� ��� �
	���� ��� 	
����

��� 3� 9� G4=� ���� ��� 3� 9� F9F�

*�� ��������� �����
���������
	��� ���
�� �	� ���!���������	
����� ���� ������� �	� ���
�������� ���������

EXERCISES

���� :����

1 , (0) 1,
dy

xy y
dx

= + =

	
����� ���� ����	�� ������� �	�� ���!� ���� �	
����� ��9� !�� �	������ �	� �	��
����
��� �������

��� 1�	�� ����� ���� ������������� ������	�

2

2
– , (0) 1 and (0) 0

d y
xy y y

dx
′= = = �

���� ���� ������� �	����	�

3
6 91 4 1 4 7

1
3! 6! 9!

� � �
� � � � ��

x
y x x
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��� *�

2

1dy

dx x y
=

+
����� � �=!� 3� =�

�	
����� ���� ������� 	�� � �=� !� ���� � �=�4!� 
�� ����	�-�� ������� 
���	��

��� 5��� $�����-�� 
���	�� �	� 	
����� �� ������� �	����	�� 	�� ���� ��	
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9.2 LAPLACE’S EQUATION
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Figure 9.1 xy-plane coincides with a rectangular face PQRS.
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9.3 FINITE-DIFFERENCE APPROXIMATIONS TO DERIVATIVES
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Figure 9.2 Approximations to Laplace’s equation.
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9.4 SOLUTION OF LAPLACE’S EQUATION
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Figure 9.3 Interior mesh points and boundary points.
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9.4.3 Successive Over Relaxation (SOR) Method
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0, 2 1, 2 2, 2 1,1 1, 34u u u u u− + = − −

��	

(1) (1) (1) (0) (0)
1, 2 2, 2 3, 2 2,1 2, 34u u u u u− + = − −

:������������ ���� ����	���� ������� ��	� �������� ���� �������  �� ������

(1) (1)
1, 2 2, 2

1
0.3333.

3
u u= = =

A������ ��������	� ���� ������������� ��� ���� � �� �� ��� �� �� � ���������� ���
	�����������	��������� ���� 
������������������ ������������� ��������� ���� ���

����� ����� /��� ������  �� ���� (
�� $%�*+'�  ��� 0.r = :������ 1,i = (
�� $%�*+'
�������

(2) (2) (2) (1) (1)
1, 1 1, 1, 1 0, 2,4j j j j ju u u u u− +− + = − − $���'

������� 1j = ��	 2j = ��� ���� �������  �� ������� ���� �
�������

(2) (2) (2) (1) (1)
1, 0 1,1 1, 2 0,1 2,14u u u u u− + = − −

��	
(2) (2) (2) (1) (1)
1,1 1, 2 1, 3 0, 2 2, 24 .u u u u u− + = − −

:��������������������	�������������	��������������������
��������� ��������

(2)
1,1

8
0.1778

45
u = = ��	

(2)
1, 2

17
0.3778

45
u = =

����������� �������������� ���������	��������� ���� ���� 2i = ���(
�� $%�*+'

(2) (2) (2) (1) (1)
2, 1 2, 2, 1 1, 3,4j j j j ju u u u u− +− + = − − $��'

������� 1j = ��	 2j = ��� ���� �������  �� ������� ���� �
�������

(2) (2) (2) (1) (1)
2, 0 2,1 2, 2 1,1 3,14u u u u u− + = − −

��	
(2) (2) (2) (1) (1)
2,1 2, 2 2, 3 1, 2 3, 24u u u u u− + = − −

:������������ ���� ����	���� ������� ��� ���� ������ � �� �
�������� ��	� �������
������  �� ������

(2)
2,1 0.1778u = ��	 (2)

2, 2 0.3778u =

:�������%�*3 :���������
�0������B��(
������ 359
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���������������������������	����������������
����������������������	�
�������
������ ��� �����������������������	���������������	��� ����	����	������������
������ ������������� 
��� ���� ����� ����������

9.5 HEAT EQUATION IN ONE DIMENSION

����������
��������������	�������������� ��������������������������	�

��������
�
������� ��	� ��� �� ����� ��������� ��������� (
������� $%�&+'�� 	�����	� ��
:������� %�+����	���� � �8	����������� ����� ���	������� ��� �� ������� ������	� �

�� ������� �
�  �� �����	��� �� ����� ����� ��������	� ��	� ��	� �
����� ���� ������� �

������������	���� ����	�

���������� ����������������
����������������������
����������	�������������������������������������� ���������������������	�

��������
�
������

2
2

2

u u

t x

∂ ∂=
∂ ∂

α $%�**'

 ����

2 k

s
=α

ρ
$%�*2'

��� (
�� $%�*2'�� (� ��� ���� ���

������� �
� ���	��������� �
� ���� ���������� �� ��� ���
	���������	��� ������������
���������=���������������������
�(
��$%�**'���������	
��� ���� �����	� �
� ����������� �
� ���������� ���� ������ ��

2 2

2 2

1 2

2 3

( , ) ( cos sin )

( , ) ( )

p t

p t px px

u x t e c px c px

u x t e c e c e

�

�

�� � �
�
�� � �

�

�
$%�*5'

/����(
��$%�*5'������������������
�����
���������������	�����������	����	���
����� ���� ����	���� ���	������� ������� ��� ��� ������ ����� ��� ������(
�� $%�**'�� �
���	� ���� �������� ���	������ ��	� � �� � ����	���� ���	�������� ��� ���� ��
����� �
������ 	������� ���� ��%���� $������%��� ��	� ������ ��
�%�� �����
������%�� ��� ����
�
�������

9.5.1 Finite-difference Approximations

!�� 	���	�� ���� $
� �'� ������ ����� �������� ����������� ��� ������ �
� ���� ����� �

�����


� #� ���� � � �� #� -�� &�� +�� M

�� #� (
�� � � (� #� -�� &�� +�� M

 ����� �� #� �
� ��	� 
� #� ���� <�������� �$���� (
'� #� k
iu ��  �� ����

1k k
i iu uu

t l

+ −∂ ≈
∂

$%�*6'



��	

� �
2

1 12 2

1
2

� �

�
� � �

�

k k k
i i i

u
u u u

x h
$%�*7'

(
������� $%�**'� ��� �������	� ��� ���� 
������ 	�

������� ��������

1
2 1 1

2

2
,

k k k k k
i i i i iu u u u u

l h

�

� �
� � �

� �

 ����� ������
���� ��
1

1 1 (1 2 ) ,k k k k
i i i iu u u u�

� �
� � � �� � $%�*%'

 ����

2

2

l

h
= αλ $%�2-'

��� (
�� $%�*%'�� 1k
iu + � ��� ��������	� �
�
����
�� ��� ������ �
� 1 1,k k

i iu u− + � ��	� .k
iu

A����� ��� ��� �����	� ���� �
�
����� 
������� 
��� ���� ��������� �
� ���8	����������
������
�������� ��� ������� ��� �� �����(
�� $%�*%'� �������	������ 
���-������� 1

2
�

 ����� ��� �����	� ���� �����
���� ��%$����%� � 
��� ���� ��������� 
�������

�
�  �� ���� �� #�
1

2
� ��� (
�� $%�*%'��  �� ������� ���� ������� 
������

� �1
1 1

1

2
�

� �
� �

k k k
i i iu u u $%�2&'

 ����� ��� �����	� ��%$��+,����$�� �������%��� �����
��� ��� ��� ������ ����
(
��� $%�*%'���	�$%�2&'������ ������	����������������������
� ���� ��������������
������������
����=� 
������� �����	������������� ���� ����������������� ��� ����

	������9���@���	�;������������(
��$%�**'���
� ���������
2

2

u

x

∂
∂

���������������

�
� ���� 
������ 	�

������� ��������������� ��� ���� (��� ��	� $( "&'��� ����� �������
 �� ������

� �
2

1 1 1
1 1 1 12 2

1
2 2

2
k k k k k k
i i i i i i

u
u u u u u u

x h
� � �

� � � �

�
� � � � � �

�

A������ (
�� $%�**'� ��� �����������	� ��

� �
1 2

1 1 1
1 1 1 12

2 2
2

k k
k k k k k ki i
i i i i i i

u u
u u u u u u

l h

�

� � �

� � � �

�

� � � � � �
�

 ����� ������
���� ��

11 1
1 1 11(2 2 ) (2 2 )kk k k k k

i i i i iiu u u u u u�� �

� � ��
� � � � � � � �� � � � � � $%�2+'

���������
����	���
�(
��$%�2+'� ���������������@�� �����	����������������	��
��������@�� ��
������������������������	����%(+1���
��%������
��
����������8
	����������� ����� �
������� ��	� ��� ��� ��� ���
����� �����
� 
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��� ��� ����������� ���� �

� ��%���� )�
���� ����  � �
� ������ ����1� �������������
���������������������� �������(
��$%�2+'�������1���������������
��������
��
���� 1� ��@�� ���� ��� �� ��������  ���� ������� �
� �� ��� ���� ����� �� �� ���� ��
���������	�

�������	
�� C�������F��	��):����	��
����������������������������	������
�������

2

2

1

2

u u

t x

∂ ∂=
∂ ∂

 ���� ���� ���	������� �$
�� -'� #� *
� )� 
�� ��	� �$-�� �'� #� �$*�� �'� #� -�

:������� �� #� &��  �� ���� ����� 
� #� &�  ���� �� #�
1

2
�

;� �� ���� �������� ������� ���

�$-�� -'� #� -�� �$&�� -' #� 1�

�$+�� -'� #� *�� �$1�� -' #� 1

��	 �$*�� -' #� -�
/�������� �$-�� �'� #� �$*�� �'� #� -�

/��� 
� #� &�� F��	��):����	�� 
������� �����

1
1

1
(0 4) 2,

2
u � � �

1
2

1
(3 3) 3,

2
u � � �

1
3

1
(4 0) 2.

2
u = + =

:���������� 
��� 
� #� +��  �� ������

2
1

1
(0 3) 1.5,

2
u � � �

2
2

1
(2 2) 2,

2
u � � �

2
3

1
(3 0) 1.5.

2
u � � �

9���������� ��� �����  ����  �� ������

3
1 1,u = 3

2 1.5,u = 3
3 1,u �

4
1 0.75,u = 4

2 1,u = 4
3 0.75,u =

5
1 0.5,u = 5

2 0.75,u = 5
3 0.5,u = � ��	� ��� ���



�������	 
�� :����� ���� ����� ���	������� �������
2

2

u u

t x

∂ ∂=
∂ ∂

���N���� ��� ���� ���	������� �$
�� -'� #� ���� � 
�� -� �� 
� �� &�� ��	� �$-�� �'� #
�$&���'�#�-��C���F��	��):����	�B����	�9���@);��������
������������������
���� ������ �
� �$-�5�� -�-*'� ��	� �������� ���� ��������  ���� ���� ������ ������

���� ������ ��������� �
� ����� �������� ��� ������ ��

�$
�� �'� #� ������ ���� � 
�

��� ����� ���� ������ ������ �
� �$-�5�� -�-*'� ��� -�5*-7�
$�'� ��%$��+,����$�� �����
�

0��� �� #� -�+�� � ����� 
� #� ���� #�
1

2
$-�-*'� #� -�-+�

���� �������� ������� �
��� ���
0
0 0,u = 0

1 0.5878,u = 0
2 0.9510,u =

0
3 0.9510,u = 0

4 0.5878,u = 0
5 0.u =

����� F��	��):����	�� 
������� �����

1
1

1
(0.9510) 0.4755,

2
u = = ( )1

2
1

0.5878 0.9510 0.7694,
2

u = + =

1
3 0.7694,u = 1

4 0.4755u = �

=����

2
1

1
(0.7694) 0.3847,

2
u = = 2

2 0.62245,u =

2
3 0.62245,u = 2

4 0.3847.u =

�����
����� �$-�5�� -�-*'� # 2
3u #� -�5++*�� ���� ������ ���  ����� ��� -�-&7*�

$�'� ���%(+1���
��%� �����
�
0��� �� #� -�+� ��	� � 
� #� -�-*�� ��� ����� �� #� &�
/��� �� #� &�� 9���@);�������� 
������� �������

1 1 1
–1 1 –1 1– 4k k k k k

i i i i iu u u u u� � �

� �
� � � � $�'

�������� (� #� -� ��� $�'��  �� ������
1 1 1 0 0
–1 1 1 14i i i i iu u u u u

� � �
� � � � �

9��������	���� ��� �� #� &�� +�� 1�� ��	� *��  �� ������� ���� 
���� �
�������
1 1
1 24 0.9510u u− =

1 1 1
1 2 3– 4 1.5388u u u+ − =
1 1 1
2 3 4– 4 1.5388u u u+ − =

1 1
3 4– 4 0.9510u u� �

:�������%�23 A����(
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F�� ����������  �� ����
1 1 1 1
1 4 2 3andu u u u= =

:������� ���� ������ ��������  �� ������
1 1
2 3 0.6460u u� �

A������ �$-�5�� -�-*'� �� -�5*5-�� ���� ������ ���  ����� ��� -�--2+�

�������	 
�� :����� ���� ����� �
������

2

2

u u

t x

∂ ∂=
∂ ∂

���N���� ��� ���� ���	������

�$
�� -'� #� -�� � � �$-�� �'� #� -� � � ��	� � � �$&�� �'� #� ��

C����� 9���@);�������� �������� 
��	� ���� ������ �
�
1 1

,
2 8

u
� �
� �� �

� ��@���

������������� $�'� �� #�
1

2
�� 
� #�

1

8
�� $��'� �� #�

1

4
�� 
� #�

1

8
�� 9������� ���� �������

�������	�  ���� ���� ������ ������ �
� 1 1
,

2 8
u
� �
� �� �

� #� -�-&767�

$�'�
1 1 1

, . Then .
2 8 2

h l= = =λ

9���@);�������� ������� �����

1 1 1
1 1 1 1– 6 2 .k k k k k k

i i i i i iu u u u u u+ + +
− + − ++ − = + +

:������� (� #� -� ��	� �� #� &� ��� ���� ������ �
��������  �� ������

1 1 1 0 0 0
0 1 2 0 1 2– 6 2 0.u u u u u u+ − = + + =

1 1 1
1 0 2

1 1
, since 0 and .

48 8
0.02083 (error 0.00205).

u u u� � �

� �

$��'� � 1 1
, . Then 2.

4 8
h l �= = =

�����
����� 9���@);�������� ������� �����

1 1 1
1 1 1 1– 3k k k k k k

i i i i i iu u u u u u+ + +
− + − ++ − = − +

!���� (� #� -��  �� ������

1 1 1 0 0 0
1 1 1 1– 3 0, 1, 2, 3.i i i i i iu u u u u u i
� � � �
� � � � � � �



9��������	���� ��� �� #� &�� +� ��	� 1��  �� ������� ���� ������ �
�������

1 1
1 2

1 1 1
1 2 3

1 1
2 3

–3 0

3 0

1
3 – .

8

u u

u u u

u u

− =

− + =

− =

:������� ���� ������ ��������  �� ������

1
2

1 1 1
, 0.01786 (error 0.00092).

2 8 56
u u

⎛ ⎞= ≈ = =⎜ ⎟⎝ ⎠

9.6 ITERATIVE METHODS FOR THE SOLUTION OF EQUATIONS

���� ���������������	�� 	�������	� ��� :������� %�*� ���� ��� ������	� ��� ������ ���

�����8	�

������� �
�������� �������	� ��� ���� �����	���� ��������� ��� ����9���@)
;�������������	�� ���� �������� 	�

��������� �
������

2

2

u u

t x

∂ ∂=
∂ ∂

��� �������	� ��� ���� 
�����8	�

������� �
������

, 1 , 1, 1 1, 1, 1 1, ,
1

(1 ) ( 2 )
2i j i j i j i j i j i j i jr u u r u u u u u+ − + + + + −+ = + + + + − $%�21'

 ���� 2/ .r k h=

��� (
�� $%�21'�� ���� ��@�� ��� ��� , 1 1, 1,i j i ju u+ − + ��	 1, 1,i ju + + ��	� ���� ������

����@�� ������������� ���������	���������	��������0���������A������	�������
���� 0B�� ��	� �������

, 1, , 1,
1

( 2 )
2i i j i j i j i jc u r u u u− += + − +

$%�2*'

(
�� $%�21'� ���� ���  ������� ��

1 1( )
2(1 ) 1

i
i i i

cr
u u u

r r− += + +
+ + $%�22'

/���� (
�� $%�22'��  �� ������� ���� ���������� 
������

( 1) ( ) ( )
1 1[ ] ,

2 (1 ) 1
n n n i

i i i
cr

u u u
r r

+
− += + +

+ + $%�25'

 ��������������� ��� ( 1) thn + �������� ��� �������
� ����%��� �����������������	� ��
@�� �� ��� *�����B�� ��������%� �����
��
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����(
��$%�25'� �������� ���� ������
���������� ( 1),n
iu + � ���

��������������
 1,iu − ������ ( 1)
1 ,n

iu +
− ��������	������������ A���������������������

�
� I�����B�� ���������� 
������� ������� �������	���� ��������� ( )
1

n
iu − � ��� 
������

���������(
��$%�25'����������������������������������������� ( 1)
1 .n

iu +
− =����	������

 �� ������� ���� 
������

( 1) ( 1) ( )
1 1[ ]

2(1 ) 1
n n n i

i i i
cr

u u u
r r

+ +
− += + +

+ + $%�26'

 ����� ��� �����	� ���� 	����),��$�
� ��������%� �����
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9.8.1 Software for Partial Differential Equations
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10.2 NUMERICAL METHODS FOR FREDHOLM EQUATIONS
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10.2.1 Method of Degenerate Kernels
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x Exact y(x) n Computed y(x) Error Ratio

0.0 0.65741 4 0.66026 0.00285

8 0.65812 0.00071 4

16 0.65759 0.00018 4

32 0.65746 0.00005 3.6

1.0 0.75572 4 0.75452 0.00120
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32 0.75570 0.00002 4

10.2.4 Use of Chebyshev Series
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Chebyshev Series Solution of Love’s Equation with d = 1.0

π= −cos ( / )jx j N ( )jy x

0.0 0.65740981

0.38268 0.67248912

0.70711 0.70866017

0.92388 0.74265684

1.0 0.75571801

10.2.5 Cubic Spline Method
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Cubic Spline Solutions of Love’s Equation

y(x)

x d = 0.1 d = 0.01 d = 0.001

0.0 0.51261 0.50146 0.50015

0.2 0.51470 0.50158 0.50016

0.4 0.51858 0.50187 0.50019

0.6 0.52876 0.50261 0.50026

0.8 0.60688 0.51713 0.50271

1.0 0.78627 0.69641 0.67179
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10.3 SINGULAR KERNELS
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1.076 0.126 0.081 0.050 0.018 1.0
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x Exact y(x) n Computed y(x) Error

0.0 0.65741 4 0.65609 0.00132

8 0.65708 0.00033

16 0.65733 0.00008

32 0.65739 0.00002

1.0 0.75572 4 0.75484 0.00088
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16 0.75566 0.00006
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Accurate value
s (in deg) of v(s) Computed value Error

18 0.4635 0.4619 0.0016

36 0.8817 0.8816 0.0001

54 1.2135 1.2141 0.0006

72 1.4266 1.4275 0.0009

90 1.5000 1.5011 0.0011

,���	��������	������
�������
������������������$����

B��������	&�����N����	

< =9 ?�

10.4 METHOD OF INVARIANT IMBEDDING
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H x y(x)

1.05 0.0 –1.7718

1.0 –1.7013

1.1 0.0 –1.7450

1.0 –1.6813

1.2 0.0 –1.6898

1.0 –1.6464

1.3 0.0 –1.6599

1.0 –1.6169

1.6667 0.0 –1.5618

1.0 –1.5397
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Figure 11.1 Typical finite elements.
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11.1.2 Base Functions
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x
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�� ��������
� ��� 

���
��������
�� �	� ��� 
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11.2 METHODS OF APPROXIMATION
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11.2.1 Rayleigh–Ritz Method

���	�����
	�����
������	���	����	�
���	��������������	��������������$���	
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11.3 APPLICATION TO TWO-DIMENSIONAL PROBLEMS
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11.4.1 Finite Element Method for One-dimensional Problems
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Figure 11.2 Typical eth element.
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Introductory Methods of
Numerical Analysis

F I F T H  E D I T I O N

S.S. Sastry

This thoroughly revised and updated text, now in its fifth edition, continues to provide a 
rigorous introduction to the fundamentals of numerical methods required in scientific and 
technological applications, emphasizing on teaching students numerical methods and in helping 
them  to  develop  problem-solving  skills.

While the essential features of the previous editions such as References to MATLAB, IMSL, 
Numerical Recipes program libraries for implementing the numerical methods are retained, a 
chapter on Spline Functions has been added in this edition because of their increasing 
importance  in  applications.

This text is designed for undergraduate students of all branches of engineering.

Includes additional modified illustrative examples and problems in every chapter.

Provides answers to all chapter-end exercises.

Illustrates algorithms, computational steps or flow charts for many numerical methods.

Contains four model question papers at the end of the text.

S.S. SASTRY, Ph.D., is  Formerly, Scientist/Engineer SF in the Applied Mathematics Division
of Vikram Sarabhai Space Centre, Trivandrum. Earlier, he taught both undergraduate and 
postgraduate  students  of  engineering  at  Birla  Institute  of  Technology,  Ranchi.

A renowned mathematical scientist and the author of the books on Engineering Mathematics
(all published by PHI Learning), Dr. Sastry has a number of research publications in numerous 
journals  of  national  and  international  repute.
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